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UNIT 1

FINANCIAL SYSTEM

The active vocabulary of the Unit.

assets

akmueu

mutual

CRIIbHUU, 63AEMHUTL

liabilities

30008 'A3aHHA, Nacusu

mortgage lending

inomeune KpeoOumy8aHHs,

to comprise

6KJIrouamu

credit unions

KpeOumHti Cniiku,
MOBAPUCBA B3AEMHOO
Kpeoumy

public finance

OepoicasHi Qhinancu

competitive rates

KOHKypeHH’ZOCI’lpOMO()fCHi
cmaeKku

corporate finance

KOpnopamueHi inancu

trust companies

mpacmosi KOMnauii

provision

3abe3neyennis

lending
institutions

KpeoumHi yCmaHosu

essential services

HeobXIOHi nocuyeu

to manage estates

YIPasAAmu MauHom

encouragement 3A0X0UeHHSl trustee dosipena ocoba
implementation 301lICHeHHsl, 6MINEHHS to provide loans |nadasamu nosuxu
to pass budget nputimamu 6100xcem insurance agents |cmpaxosi azenmu
. . oniama npayi, 8UHa2opooa,
revenue 00xi0 remuneration pay P
KOMNneHcayis
to be derived from |6ymu ompumarum contractual o
. Y 00208ipHi ycmaHoeu
sth 8i0 4020Cb institutions
. . cyb ’ekm eKOHOMIUHOI .
economic entity 4 . to be entitled to  |.mamu npaso na
OIsIbHOCI
multilateral 06a2amocmopouHiul security firms opoxepcoki hipmu
. npudamuul .
applicable P o to facilitate Ccnpusmu, noae2uysamu
3acmocosHuUll
. . obaunuil, po3cyonusui,
authorities opeanu 61a0u prudential  POoscy
npyoeHyiunul
government . . .
i VpA008i gumpamu prominent BU3HAYHUL
consumption

transfer payments

mpancgepHi niamexnci

multiple nations

KIIbKa KpaiH

ninveu, no8 s3ami

retirement benefits . bilateral 080CMOPOHHILL
3 8UX00OM HA NEHCTI0
obmedceti,
scarce resources . : roughly npubIU3HO
MizepHi pecypcu
burden mseap mutual interest 63AEMHA 3AYIKABNEHICMb

to communicate

Koonepamueu

NOBIOOMAAMU NIAHU formerly paHiwe
plans
. . tools of . .
allocation PO3NOOINEeHHS . IHCMpPYMEeHmMU IH8eCHy8aHH
Ivestment
- - AHCUMI0B0-0YOiBeIbHI .
building societies promoting CNPUSIHHSL



http://en.wikipedia.org/wiki/Mutual_organization
http://en.wikipedia.org/wiki/Credit_union
http://en.wikipedia.org/wiki/Trust_company
http://www.investorwords.com/2511/insurance_agent.html
http://en.wikipedia.org/wiki/National_Income_and_Product_Accounts#Accounting_for_National_Product:_The_Right_Side_of_the_Report
http://en.wikipedia.org/wiki/Scarcity
http://en.wikipedia.org/wiki/Building_society

2. Provide definitions of the following terms.

1) funds n [plural] money that an organization needs or has;

2) overdraft n.[C] British English the amount of money you owe to a bank
when you have spent more money than you had in your account;

3) capital n. [U] money or property, especially when it is used to start a business
or to produce more wealth;

4) taxes n. [U and C] an amount of money that you must pay to the government

according to your income, property, goods etc and that is used to pay for public
SErvices;

5) security n. (plural securities)

1)  [U] actions to keep someone or something safe from being damaged, stolen,
etc.

2)  [U] afeeling of being safe and free from worry about what might happen;

3) [U] property or other assets that you promise to give someone if you cannot
pay back the money that you owe them:;

4) [C] a financial investment such as a bond or share, or the related certificate
showing who owns it;

6) benefit n. [U and C] an advantage, improvement, or help that you get from
something;

7) savers n. [C] people who save money in a bank;

8) borrowers n. [C] people who have borrowed money and have not yet paid it
all back;

9) investors n. [C] people who give money to a company;

10) service n. [C] the official system for providing something, especially
something that everyone in a country needs to have, or the official organization that
provides it.

3. Use your dictionary to find the corresponding nouns and translate both
the verbs and the nouns.

1) to allocate — allocation; po3moaiasTH — PO3MOJILT,

2) to act — activity — action; JisiTH — TISJIBHICT — JIisT;

3) to encourage — encouragement; 3a0X04yBaTH — 3a0X0YCHHS;

4) to implement — implementation; 3/11iCHIOBaTH — 3A1CHEHHS;

5) to provide — provision; 3a0e3neuyBaTu — 3a0€3MeUCHHSI;

6) to consume — consumer, consumption; CIOXHUBaTH — CIOXKHBaY,
CTIO’)KUBaHHS;

7) to pay — payment, payer, payee; INIaTUTH — OIUIaTa, IJIATHUK, OTPHMYyBad
TIATeKY;

8) to grow — growth; 3poctaT — 3pocTaHHS;

9) to employ — employment / unemployment, employer, employee; Halimatu —
3alHATICTE / 6€3pO0ITTS, palleiaBellb, MPaIliBHUK;

10) to invest — investment, investor; iHBECTyBaTH — IHBECTHII11, IHBECTOP.

4. Decide which nouns are countable (C) and which are uncountable (U) ones.
5



HU;2)C;3)U; 4 C;5C;6)U;7)C; 8) C.

S. Use the words in the box to complete the sentences.
1 — allocate; 2 — communicate; 3 — motivate; 4 — evaluate; 5 — provide.

6. Put the following countries in the right order.
1 — USA; 2 — Russia; 3 — Japan; 4 — the United Kingdom; 5 — Saudi Arabia.

dekok

Pre-reading tasks:

1. Match the two parts (A and B) to make partnerships. Translate them.
1) — d), trust companies — TpaCTOB1 KOMIaHi{;

2) —h), building societies— KkUTIOBO-OyAIBENIbHI KOOTIEPATUBH;

3) — g), investment banks — iHBeCTHIli/iHI OaHKH;

4) — a), depository institutions — JIeTO3UTHI YCTAaHOBHU;

5) —b), pension funds — nenciiini GoHau;

6) — c), separate agencies — OKpeMi Mpe/ICTABHUIITBA, YCTAHOBHU;

7) —e), governing bodies — kepiBHI OpraHu;

8) —f), security firms — Gpokepchki hipMu.

2. Translate the following phrases from Text B.

1) HajJaBaTu (PIHAHCOBI MOCTYTH;

2) OyTH BIJIIIOBIJAJIBHUM 32 M€PEKa3 KOIITIB;

3) MOJIETUIYBATH MOTIK IPOILEH;

4) HaJIaBaTH KOIITH JJIsI ITO3MK;

5) 3aXMCT IpaB CIOKMUBAUIB Ta CTAOIIBLHICTh PUHKY;

6) PETYIIIOBATHUCS YPSIOM;

7) MaTH OKpeM1 IPeCTaBHUIITBA JJIs1 PI3HOI'O TUIY YCTAHOB;
8) 3aJy4aTy NMPYACHINITHE peryToBaHHS;

9) TOJIOBH1 KEPIBHI OpPTaHH;

10)  HamaBaTH MO3UKHU.

S. Find the terms in the text that match to the following definitions.
1) mortgage; 2) intermediary; 3) loan; 4) service; 5) facilitate.

6. Complete the sentences with the appropriate form of the words in
brackets.

I — been established; 2 — generally; 3 — occasionally; 4 — created;
5 — classified; 6 — known; 7 — managing; 8 — the largest; 9 — roughly;
10 — developing; 11 — emerging; 12 — have established.

7. Match the two parts (A and B).
1)—e);2)-d); 3)-1);4)—a);5)-b); 6) —c).


http://en.wikipedia.org/wiki/Trust_company
http://en.wikipedia.org/wiki/Building_society

8. Complete the chart with different parts of speech.

noun adjective verb
government governmental govern
finance financial finance
establishment established establish
correspondence corresponding correspond
globe global —
provision provided provide
emergence emerging emerge
profession professional -

9. Translate into English.

1. Budget is an estimation of the revenue and expenses over a certain period of time
in future.

2. It can be created for an individual, a family, a group of people, businesses,
government, a country, or any organization that makes profits and spends money.

3. Financial institutions are organizations that are focused on dealing with financial
transactions, such as investments, loans and deposits.

4. Financial institutions are composed of organizations such as banks, insurance and
investment companies, trust companies, building societies and others.

5. All people depend on the services provided by financial institutions.

6. International financial institutions are set up to facilitate economic development
and trade.

7. Striking / The brightest examples of international financial institutions are the
World Bank and International Monetary Fund.

8. Typically these financial institutions are represented in more than one country.

9. Overdraft is a popular form of financing because it has the advantages of
availability, convenience and flexibility.

10. There are organizations that specialize in investing in companies.



UNIT 2

EXCHANGES. INFLATION

The active vocabulary of the Unit.

entity

s
cyo’exm;
ropuoudHa ocodoa

spot price

YiHa npu He2auHil nocmasyi i
onaami

stock exchange

gonoosa bipaica

purchasing power

KYnigenbHa CRPOMOICHICb

commodit MOBAPHO-CUPOBUHHA
y o6ap P households OOMAUHE 20CNOOAPCMBO
exchange Oiporca
bond oonieayis to sustain niompumysamu
.\ - demand-pull IHQaayia 6 pe3yibmami
securities YIHHI nanepu . . p prayis 6 pesy
inflation HAOIUWKY NONUMY
o . . 3anuwamu / ympumyeamu
derivatives depusamueu to retain earnings . YIpUMY
3apobimox
s . . IHaaYis, cmumyibo8ana
futures @ ouepcu cost-push inflation Py 4
3DOCMANHAM UMPaAm
forwards CMPOKOBI y20ou incentive CIUMYIT
supply and . .
nonum ma npono3uyisi redemption BUKYN, NO2AUEHHS
demand
raw materials CUposuHa to persist Hanoaseamu
MIHAUBICM®, .
- o to monetize the nepemeoprogamu 6ope
volatility HenoCmilHicCmy, ;
. debt Ha 2pouli
Hecmanicmo
) oymu e cnucky, 6ymu .
to be listed y Y OF output NPOOYKYIsl, BUNYCK
3apeecmpo8anum
NOHUIICEHHSL POHO0BOT .
bear market , ¢ input 8K1A0, BHECOK
KOH TOHKmMypu
OHO08a KOH TOHKmMYpd, unemployment . )
bull market ¢ . P ploy piseHv be3pobimms
Wo nioBUWYEMbCSL rate
issue/ to issue sunyck / eunyckamu to combat bopomucs
) . .. CNOHYKamu,
stock indexes 0ipatco8i inoekcu to spur to 1OTY
niobyprosamu 00
ownership BI1ACHICb GDP BBIl
. . KoMepyiuHuil
to be entitled to | mamu npaso na commercial paper sexc eljz Z

Pre-reading task.

1.  Match the following words with their Ukrainian equivalents.
1)—h);2)=d);3)-g);4) —b); 5)—a); 6) —1); 7) —¢); 8) —e).

3.

1-c);2—e);3—b);4—2a);5—d).

Match the two parts of the sentences.

4. Decide whether the following statements are true or false.
1. False. Stock exchange is only the most important component of a stock
market.




2. False. The trading floor of any stock market is very noisy and pressure is
very high especially during the period of volatility.

3. False. Bear markets are more challenging for traders than bull markets.

4. True.

5. False. People become shareholders when they buy shares.

6. False. Shareholders do not necessary receive their share of the company’s
profit in

7. cash. The corporation may choose to retain earnings or pay them out to
shareholders as dividends.

8. True.

9. True.

S. Find in the text the words that mean the following.
a) entity; b) broker; c) derivatives; d) bear market; e) bond; f) share;
g) securities; h) recession; 1) index; j) spot price.

kskk

1. Match the following words with their Ukrainian equivalents.
D=g);2)-D;3)—a);4)—)); 5 -b);6)—1); 7) —1); 8) —m); 9) — ¢); 10) —k); 11) —
e); 12) —n); 13) —d); 14) — h).

2. Read the text and answer the questions.

1. The money markets are a network of corporations, financial institutions,
investors and governments, which need to borrow or invest short-term capital (up to
12 months).

2. A business or government that needs a short-term capital only can use the
money market.

3. Businesses go to banks to get a long-term capital.

4. It pays to deposit money with investment companies because the interest
rates are higher than banks usually offer.

5. T-bills in a country’s own currency are generally the safest possible
investment.

6. They are called time deposits because the holder agrees to lend the money for
a specified amount of time. (He lends money by buying the certificate).

7. Certificates of deposit (CDs) are considered to be written promises to repay a
debt.

8. The investor avoids a loss if the price of securities, and their value as

collateral falls.

4. Complete the statements.

1 —lower; 2 — bonds issued by governments; 3 — maturity; 4 — face / nominal value; 5
— commercial paper; 6 — a repurchase agreement ( repo); 7 — is guaranteed by the
government; 8 — a discount.



5. Put the words in the correct order to make statements.

1. A dealer tries to find a long-term buyer for securities.
2. They are issued by banks to large depositors who can then trade them in the
short-term money markets.
3. They can also deal with irregular cash flows more cheaply.
4. A bank wants to invest money that depositors could withdraw at any time.
5. Borrowers can find short-term liquidity by turning assets into cash.
ek

2. Find in the text the English equivalents of the following words.

1) to strike fear into the heart; 2) money’s purchasing power;
3) simultaneously; 4) if left untreated; 5) to reduce consumers’ income;
6) to combat inflation; 7) to spur to action; 8) to result in.

3. Match the following words with their definitions.
1-b);2-d);3—e);4—-1);5-2a);6—-g);7—c).

4. Complete the sentences with the appropriate form of the words provided
in the brackets.

1) purchasing;

2) circulation;

3) mutually;

4) untreated;

5) printing;

6) employment;

7) consumers;

8) ability.

5.  Translate the following sentences into English.

1. Should your company be listed on a stock exchange to be able to trade shares
there?

2. Various factors affect supply and demand on stock exchanges.

3. Shareholders are entitled to the profit the corporation makes.

4. Anybody can become a subject of inflation: governments, businesses,
households.

5. To stop demand-pull inflation, the consumers must be given an incentive to
save more than to spend.

6. Can hyperinflation occur if Central banks are monetizing the debt?

7. Cost-push inflation occurs when input prices increase and it is always
associated with the decrease of GDP.

8. Purchasing power of the hryvnya is much lower than that of the dollar.

0. Contracts on a commodity exchange include spots, forwards, futures etc.

10.  What can happen if the Central bank puts too much money into circulation.

10



UNIT 3

BANKING

The active vocabulary of the Unit.

. 03poodIAMU,
to devise posp to lend (to) smb nosuyamu KoOMycb
npuoymysamu
financial regulation ginancosuil pecnamenm | popular medium nonyiapHull 3acio
nosuxa (Hadasamu . He giocmasamu 810
loan (to make loans) ¢ to keep up with .
NO3UKU) / imu 8 Ho2Y
) . . 30ilcHI08amu
1nterest giocomox / npoyenm to execute transactions
onepayii
. Haoip / Komniexc . .
a set of standardized P OaHKIBCHKI
CMaHOapmu3068aHux bank accounts
procedures PAXyHKU
npoyeoyp
. . 6HYMpIiwHs /
domestic banking Vmp to handle money 8pecyIbo8y8amu
Hayionanbha ;
system . matters 2POoULOBL NUMAHHA
bawnxiscvka cucmema
. . . oymu
universal currency VHigepcanvha éanoma |to be compatible .
CYMICHUM, CXOHCUM
, VAPAGIIHHA
to emerge 3’aenamucs, sunukamu | management of assets
akmueamu
resolute banking 8pecyIb08ana npoumu,
; to go through
system bawnxiscvKka cucmema nodonramu
. BUPIUATILHO, KPUMUYHO, . noooaamu
crucially ) to overcome uneasiness
mym piuiyye 3aHeNOKOEHHS
gradually NOCMYN0B0, NOBOI transaction receipt yex 8i0 onepayii
financial institution ¢inancosa ycmanosa via computer yepes KoMn romep
038UBAMUCS, . 3anmamu
to evolve p . to take a while .
e6o10YioHy8amu OesKull yac
. C . . . NOCIOHUK
to introduce legislation | nputivamu 3axonu banking tutorial :
3 OAHKIBHUYMBA
London Royal Jlonooncwka to eliminate paper YCYHymu pobomy
Exchange KopoaiecvKka Oipoca handling 3 OOKYMeHmamu
regarded as SAKY pO32NA0ANU K to log on VeImu 8 cucmemy
. 3abupamu, 3HiMamu
to withdraw panmt, to upgrade NOHOBUMU
3 PAXYHKY

to borrow from smb

nosudamu 6 Ko2ocCob

11




2. Match the following words with their Ukrainian equivalents. Find them in
the text A and translate the sentences into Ukrainian.
l1-d);2-g);3-¢);4-b);5-1);6-a);7-h);8—c).

3. Scan the text and find the answers to the following questions.

1. Because the earliest banks go back to biblical days, about 4,000 years ago.
Also it is known from early records that the ancient civilizations of Rome, Greece,
Babylon, China and Egypt all made use of banks.

2. Because countries’ borders were crossed and travelling throughout the globe
became more common.
3. Because it emerged in the 16th century.

4. Find in the text the terms that match to the following definitions.
a) to cross; b) concept, phenomenon; c) hayday; d) guarantee; e) currency; f)
legislation; g) instability; h) interest.

S. Match the terms to their definitions. Use them in sentences of your own.
—c¢);2)—d);3)—a);4)—b);5)—g);6)—e); 7) - 1).

6. Choose the correct word.
1) borrow;

2) earn;

3) save;

4) spend;

5) lend;

6) withdraw.

7.  Use the correct tense form (the past simple, the past continuous or the past
perfect) of the words in brackets.
1) arrived, had disappeared;

2) had already begun, was, was;

3) were;

4) drove, opened, gave, signed, was;

5) walked, was talking, were working busily, were discussing quietly.

9. Form nationalities from the given countries and empires.
1) Roman; 2) Greek; 3) Babylonian; 4) Chinese; 5) Egyptian;
6) Italian; 7) English; 8) German; 9) Spanish; 10) Japanese.

Hskok

3. Match the two parts (A and B) to make a phrase. Translate the phrases
into Ukrainian.
1) — d); 3pocTatoua NOMmyIsIpHICTb;
2) —f); TeXHOJIOT14HI Y10 J00aHHS;
12



3) — ¢); 3A1CHIOBATH OTIEPAITii;

4) — a); KOPUCTYBATHUCS KiTbKOMa 0AHKIBCBKMUMU paXyHKaMU;
5) — e); T0J10JIaTH 3aHETIOKOEHHS;

6) — b); HaApyKyBaTH Y€K Bij orepariii.

4. Find in the text the English equivalents of the following words and word
combinations and make up a sentence with each of them.

1) to handle several bank accounts; 2) the possibilities of the Internet are endless; 3)
to click on the correct button; 4) to keep up with the changing technological
preferences; 5) when it comes to money matters; 6) to pay bills and check balance; 7)
to go through successfully; 8) to offer customers support.

S. Complete the sentences with the appropriate form of the words in
brackets.

1) popularity;

2) financial,

3) transactions;

4) powerful;
5) handling.

6. The list below provides some more advantages and disadvantages of online
banking. Divide them into two separate columns:

Advantages: 1,4, 5

Disadvantages: 2, 3, 6

7 Translate the following sentences.

1 Banking has actively developed only during the last few centuries.

2. As Andrew earned little money, the bank could not give him a loan.

3 People often spend a lot of money on unnecessary things, then they regret

4. International banking model had existed before the fall of the Roman Empire.
5. If you want to start / to set up your own business, you have to save more
money.

6. Virtual banks exist in the Internet where they perform /execute various
transactions.

7. Online banking allows customers to perform /execute financial transactions
via your own computer.

8. Now banks are becoming more and more popular.

9. Despite the fact that online banking simplifies people’s lives / makes

people’s lives simpler, it has certain disadvantages.
10. These days, with the help of online banking you can do anything without leaving
home.

13



UNIT 4

TYPES OF BANKS

The active vocabulary of the Unit.

banking facilities OAaHKIBCHKI nocuyau overdraft ogepopagpm
hand-in-hand naiy-o-niiy collecting cheques |npuiimanus yexis
monetary matters 2pouLosi cnpasu bill of exchange 8eKcellb

financial intermediary

Qinancosuil nocepeoHux

merchant bank

mopeosuti OanK

financial deficit
/ surpluses

Qinancosuti degiyum
/ Haonuwox

share ownership

8/1aCHICMYb
v Ghopmi axyii

saving habit

36UYKA 3610%;61@(){’6‘)/607}’114

to issue shares
& debentures

sunyckamu akyii
ma obnieayii

salaried people HauMaui 1oou expansion DPO3UUPEHHSL
. Land Development |6auku 3emenvrozco
to create a habit supodOumu Imamu 36UYKy
banks PO3BUMKY

moeapu mpusanozo .
durables pump taxation 0NnoO0amKy8aHHs;

KOPUCMYBAHH3L
to carry / perform BUKOHY8amu / 30iliCHIO8amMu apparent 0YeBUOHUU, ABHULL
functions GyHryii pp BUOUMULL

postal department nowimoee 8i00ieHH s to hand over nepeoasamu
. . ompumyeamu
to owe money 3abopeysamu 2pouii to gain returns doxio
general public @izuuni ocobu huge losses genu4esHi smpamu
Kpeoumo, . nepekasysamiu
lender of last resort P P to remit money PERazy
OCMAaHHbOI IHCMaHYii 2pouli
008620 | KOpOMKOMEPMIHOBI . . . .
long/short-term loans P P foreign bills IHO3eMHI paxyHKU
NnO3UKU
principal 0CHOBHUL 0008 30K, CnodCUByi
s . . . consumers banks
responsibility 8I0N0BI0AILHICID banku
issue of paper sunyck / emicis .
pap ) . for purchase 0151 Kynieii
currency nanepoeux zpouieli
non-profit making HexoMepUiHa YCmaHo8d mortgage inomeka
institution Py Y gag

epynu (nooetl)

nocayeu wooo

low income groups 3 ORI OOX000M settlement services PO3PAXYHKOGUX
onepayiu
thorough control pemenvHull KOHMpPO.lb
2. Translate the following phrases from Text A.
1) I'pONIOBI Ta PIHAHCOBI CIIPABH;
2) (dhiHaHCOBA JISIIbHICTB;
3) OyTH KOPUCHUM JJI1 HAWMaHUX JIFOJIEH 1 TPYT JIF0JIeH 3 HU3bKUM JI0X0JI0M;
4) BKJIaJIaTH TPOIII B 00JIiraiii Ta IiHHi Imanepu,
5) 3MIMCHIOBATH (DYHKIIIT Ol IHUX OaHKIB;
6) JaBaTH KOPOTKOTEPMIHOBI TO3WUKH TMIAMPUEMIIIM Yy BHUIJISAI TOTIBKOBHX

KpEeIuTiB Ta oBepipadTiB;

14



http://en.wikipedia.org/wiki/Share_%28finance%29
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7) TPOIIOBI MEpeKa3u 3 OJTHOTO MICIIS B 1HIIIE;

8) 30MpaTH KOIITH IUIIXOM BUITYCKY aKIliii Ta oOJIirartii;

9) HaJaBaTW JOBTOTEPMIHOBI KpEeAUTH / TIO3UKU IS PO3IIMPEHHS Ta
MOJICpHI3aIlii Tary3eil.

3. Find in Text A the equivalents to the following phrases.

1) to provide various services; 2) financial intermediary; 3) customers’ financial help;
4) to connect those who are having financial deficit to those having surpluses; 5) to
collect money from general public; 6) the main objective; 7) bill of exchange; 8)
long-term loans; 9) collecting cheques.

S. Change the following active sentences into the passive ones.

1. More than 100 000$ will be put on bank account by Nick.

2. All his money has been lost in the lottery.

3. Different payment services are provided by banks.

4. Some amount of money is being borrowed by Mr. Smith from his friend now.
5. The wallet was lost by Harry 2 days ago.

6. Some money is going to be deposited by Martin.

7. Revenue can be generated in a variety of different ways.

8. A lot of measures have been taken by American banks in the past 20 years.
6. Complete the passage below using words from the box.

1) number; 5) account;

2) tellers; 6) checks.

3) deposit;

4) withdraw;

Hkskk

Decide if the statements are true (T) or false (F)? Correct the false ones.

b

— Reserve Bank of India is a central bank in Asia.

1.
1-T
2-F
3-T;
4 — F — Investment banks most often work with firms, or consumers with large
quantities of savings.

5 — F — Commercial banks collect money from general public and give short-term

loans to businessmen by way of cash credits, overdrafts, etc.

2. Insert appropriate prepositions where necessary.
1) in;

2) in;

3) from,;

4) off / back;

5) in.
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3. Match the words with their opposites.
1-c¢);2—-1);3—a);4—Db); 5-1);6-4d).

4. Match the following words with their definitions
1-d);2-e);3-a);4-b);5-g);6-c);7—e);8-1).

S. Complete the following sentences.

1. In my country the most important bank is the National Bank of Ukraine.

2. The banking services that I use are taking credits, transfering money, paying
bills and others.

6. Translate into English.

1. Most banks are profitable, private enterprises.

2. Some of them are owned by the state or they are non-profit making
organizations.

3. Commercial banks meet the financial needs of various branches of economy
such as agriculture, industry and trade.

4. Some banks are very large and carry out many different functions, while others
are more specialized.

5. In case of crisis central banks usually act as the lender of last resort.

6. Consumers banks are mostly widespread in developed countries and their main

function is to provide loans to consumers for purchasing such goods as cars,
furniture, etc.

7. If you do not know in which bank to deposit your money, take advice of a good
banker.

8. One of the most profitable activities is investing money in securities.

9. Several years ago, some banks in our country suffered from huge losses and
went bankrupts.

10. Tom owes his friend a large sum of money.
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UNIT 5

FUNCTIONS OF BANKS

The active vocabulary of the Unit.

) . credit KpeoumHa OisiibHiCMb,
to assemble capital | 36upamu xaniman . L
intermediation NnoCcepeOHUYme0
. to be paid oymu oniauenum
to make collections | sanyyamu xowmu .
overtime 30 NOHAOHOPMOBY POOOMY
to check out nepesgipamu advance asawnc
to transfer funds nepexazysamu 2pouli to deduct 8i0paxosyeamu

to issue notes

sunyckamu bankHomu

huge reduction

3HAYHE 3HUIHCEHHA

cnpuimamu Ha 8ipy,

bamukiecokuil 30ip, niama

to take for granted | sgaosrcamu camo coborw bank charges
. 3a nociyau OauKy
3DO3YMIUM
to extent npocmscamucs to promote npocysamu
. BUKOPUCNOBY AU . . MidicoepoicasHe
to utilize funds P Y interstate banking P
Kowmu OaHKI6HUYMEO

checkable deposits

OanKieCcvKi Oeno3umu, 3d
AKUMU MOIICTIUBL
PO3PAXYHKU YeKaMU

surplus funds

HAOTUWKOBT KOWMU

NOW (Negotiable | paxynox HAY
Order of (paxyHok 3 Hakazom npo | to prevent losses | 3anobiecamu empamam
Withdrawal) BUIYYUEHHS KOumig)
ultimate borrowers | xiHyesi no3uuaibHUKU execution BUKOHAHHS
ooling / spreading | 06 ’conanns / po3nooin . o
p g/sp & . P trustworthiness HaOoiliHicMb
risks PU3UKIG
e 3abe3nevysamu .
to provide liquidity | ~. " Y interest rate NPOYEHMHA CMA6Ka
JIIK8IOHICMb
checking account NOMOYHULL PAXYHOK to acquire npuobamu, Hadyeamu
to evaluate oyiHoeamu liquidity risk PUBUK TIKGIOHOCMI
) . . e NPONOHY8AMU NOCTLY2U,
creditworthiness kpeoumocnpomoxcHicmsb | to offer facilities P ’ . )
MOJACIUBOCII]
middleman NnocepeoHUK expert judgment eKCnepmHa OYiHka
settlement of . .
8pe2yniosanHs niamedicie | to experience 3a3Hasamu, sunpoodysamu
payments

clearing and
settlement systems

KILIPUH2081
ma po3paxyHKosi
cucmemu

to discount

SHUSCYBamu

reservoir of funds

pe3epe Koumie

2. Match the phrases to their definitions.
1-d);2—-c);3—b);4—a).

3. Match the terms to their definitions. Use the Glossary to check.
l-e);2-1);3-d);4—-g);5-a);6—c);7—b).




4. Use the terms from the box to complete the passage below.
1 — financial, 2 — to make, 3 — securities, 4 — rates, 5 — lenders, 6 — machinery, 7 —
reservoir, 8 — investments.

5. Fill in the correct type of conditionals.
1 — had deposited; 2 — have; 3 — would spend; 4 — had had; 5 — had worked.

6. Choose the correct term.
1-b);2-c¢);3-b);4—-c);5-c¢c);6—c);7—a);8—;9—-b;10-Db.

Heokk

1. Insert the correct prepositions.
1 - for; 2 - by; 3 - to; 4 - into; 5 - of; 6 - of; 7 - with; 8 - about; 9 - for.

2. Match the words to their definitions.
1-c);2—a);3—d);4—e);5—Db).

3.  Making up dialogues.

Transferring Money

: How are you doing?

: Great. Thanks.

: Can I help you with something?

: I would like to transfer some money.

: Where would you like to transfer money from?
: Take it from my savings account.

: Where would you like the money transferred?
: I want it transferred into my checking account.
: How much would you like to transfer?

: I would like to transfer $200.

: Will that be all today?

: That’s it for today. Thank you.

Openmg Another Account

: How could I help you today?

: I need to open a second account.

: What kind of account would you like to open?
: I need another savings account.

: Do you have another account with us?

: I sure do.

: Would you like to transfer money from that account into your new one?
: That’s fine.

: How much would you like to transfer?

: Transfer $100, please

: Give me a moment while I complete your transaction.
: That’s fine. Thank you.

eI

TR
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6. Translate into English.

1. Bank performs / carries out a number of functions which include deposits
receiving, funds transferring, discounting or making loans and some others.

2. Banks act as executors, advisers and administrators.

3. If you are broke, you have to go to the bank and take a loan.

4. The bank is a financial institution and a financial intermediary that accepts
deposits.

5. A bank which makes a lot of loans faces a big number of risks.

6. If a customer opens an account in the bank, he / she is able to withdraw his /
her funds back when it is necessary.

7. Every bank which is to succeed must first of all prove its value to the
community.

8. Mortgage is a long-term loan which you take from the bank to buy a house.

0. By accepting deposits and making collections a bank saves the depositor’s
personal efforts and time.

10. If you won one million, where would you invest this money?
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UNIT 6

UKRAINIAN BANKING SYSTEM.

NATIONAL BANK OF UKRAINE

The active vocabulary of the Unit.

of the Council

Tonoea Paou

Board

. 0sopisnesa ..
two-tier structure supervision Ha2ns0
CMpYKmypa
to strengthen SMIYHIOBAMU to register peecmpysamu(cs)
forms of ownership gopmu éracnocmi to compile yKaaoamu
30epicanns
oymu oopanum custody of the gold predanit
to be elected by 30/10MOBAIIOMHUX
(kum?) and currency reserves .
pesepsis
Chairman Governor of the

Tonoea llpasninns

to be adopted by

Oymu nputiHAMUM

state-property banks

OanKu 0epiHcasHoi

(kum?) 61ACHOCMI
submission of NOOAaHHsL . KOHMPOTIbHUL naKem
. majority stake o
nominations Kanouoamyp axkyitl
_— . 30inbWeHU,
to dismiss 3B8IIbHAMU prolonged .
nPOO0BIHCEHUTL
to appoint NPU3HA4amu a revised version nepezisiHymuil 6apianm
3ameepodicenHs,
Approval P collapse Kpax
CX8aNeHHs
monetary unit 2pouLo8a OOUHUYS secretive CKPUMHUTL
to foster cnpusimu decree VKas
to carry out 30IliCHIO8aMU transition period nepexionuil nepioo

to determine monetary
policy

BUZHAYUAMU 2POULOBO-
KpeoumHy noaimuxy

to be taken out of

Oymu eueeoeHuUM 3

. 6CcManHo808amu .
to establish the rules to devaluate to 3Heyinsamu(cs) 0o
npasu.a
. wmyyHe niOmpumy6aHHs.
. byxeanmepcobKull .
accounting obix peg of (yinu, Kypcy)
mym opienmup, mesxca

reporting 36iMHICMb

2.  Match the following words with their Ukrainian equivalents.
1)—g);2)—c); 3) —1); 4) —a); 5) to elect — eubupamu!; 6) —b); 7) —e); 8) — d).

3. Read the text and translate the sentences with clauses of purpose.
- According to the Constitution of Ukraine, the main function of the National

Bank is to ensure the stability ... — Bionosiono 0o koncmumyyii Yxpainu 2onoeua

mema Hayionanenoeo 6auky nonseae ¢ momy wjoo ... .

20



http://en.wikipedia.org/wiki/Constitution_of_Ukraine

- To carry this out the National Bank fosters the stability of the banking system
and, within its competence, price stability. — I/[o6 30iticnumu ye, Hayionanonuii 6anx

The National Bank also works in order:
. to determine monetary policy — Haybanx maxooic npayioe, wob suznauamu
2pouLo8y NOAIMUKY, i m. 0.

4. Insert the correct prepositions, translate the phrases and use them in
sentences of your own.

1) — the creation of — cTBopenHs; 2) — to stem from — moxoautu Bix; 3) — according
to — 3rigHO 3, BiAMOBIAHO 10; 4) — to consist of — ckiramatucs 3; 5) — to be elected by
— Oyt obpanum; 6) — to be adopted by — Oytu npuitastum; 7) — to be divided into —
Oyt poszaiienum; 8) — to suffer from — crpaknatu Biz.

5. Match the Governors of the National Bank of Ukraine to the periods of
their ruling. Find some more information about these people.

1 — Volodymyr Matvienko, 1991-1992.

2 — Vadym Hetman, 1992.

3 — Viktor Yushchenko, 1993—-1999.

4 — Volodymyr Stelmakh, 2000-2002.

5 — Sergiy Tigipko, 2002-2004.

6 — Volodymyr Stelmakh, 2004-2010.

7 — Serhiy Arbuzov, 2010-2012.

6. Choose the best alternative from the box below to complete the text.
1-b);2-c);3—-a);4—c);5—a);6-b);7—a); 8—0c).

7. Complete the following sentences with appropriate words in the box.
1 — statement, 2 — claimed, 3 — stable, 4 — rate, 5 — currency,
6 — structure, 7 — measures.
selest
1. Decide if the statements are true (T) or false (F)?
1. T — NBU Council consists of 15 members, 7 of which are elected by the president,
and another 7 — by the Verkhovna Rada + the Governor.
2. F (6 years).
3. F— A currency called hryvna was used in Kievan Rus’.
4. F — Volodymyr Matvienko was_the first Governor of the National Bank of Ukraine.
5.T.

2. Provide definitions of the following terms. Use the Glossary to check. Use
the terms in the sentences of your own.
1) interest n. [U] an amount paid by a borrower to a lender, for example to a

bank by someone borrowing money for a loan or by a bank to a depositor (= someone
keeping money in an account there);

21


http://en.wikipedia.org/wiki/Price_stability
http://en.wikipedia.org/w/index.php?title=Volodymyr_Matvienko&action=edit&redlink=1
http://en.wikipedia.org/wiki/Vadym_Hetman
http://en.wikipedia.org/wiki/Viktor_Yushchenko
http://en.wikipedia.org/wiki/Volodymyr_Stelmakh
http://en.wikipedia.org/wiki/Sergiy_Tigipko
http://en.wikipedia.org/wiki/Volodymyr_Stelmakh
http://en.wikipedia.org/w/index.php?title=Serhiy_Arbuzov&action=edit&redlink=1
http://en.wikipedia.org/wiki/Kievan_Rus%27
http://en.wikipedia.org/w/index.php?title=Volodymyr_Matvienko&action=edit&redlink=1

2) loan n. [C] money borrowed from a bank, financial institution, person, etc. on
which interest is usually paid to the lender until the loan is repaid;

3) overdraft n.[C] British English the amount of money you owe to a bank
when you have spent more money than you had in your account;

4) surplus n. [C, U] an amount of something that is more than what is wanted,
needed or used;

5) payee n. [C] the person or organization to whom money, especially a cheque,
must be paid; — pemiTeHT

6) statement n. [C] something you say or write publicly or officially to let
people know your intentions or opinions, or to record facts;

7) to withdraw v. take (money) out of an account.

3. Insert the correct prepositions.

1 —in; 2 —to; 3 —in; 4 — for; 5 — from; 6 — from; 7 — until; 8 — with;
9 — after; 10 — of.

4. Translate into English.

1. The NBU is responsible to the Verkchovna Rada and is managed by the
Board of Governors.

2. The NBU provides short term credits to commercial banks.

3. To become the Governor of the National Bank of Ukraine you / one should
be very good at banking.

4. The NBU carries out / performs many functions: determines monetary policy,
fosters the stability of banking system, forecasts the balance of payments etc.

5. In 2008 Ukrainian banking system faced very big financial problems.

6. In some cases the United States dollar was used as the official currency in
different countries.

7. To take old currency out of circulation in the country, there has to appear a
new one.

8. The Euro is the second largest currency in the world after the United States
dollar.

9. The Ukrainian Banking system is a two-tier structure consisting of the NBU

and commercial banks.
10.  Since many depositors cannot assess the creditworthiness of borrowers they go
/ apply to the bank.
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UNIT 7

BANK OF ENGLAND FEDERAL RESERVE

The active vocabulary of the Unit.

Treasury Solicitor

aoeokam KasHayelucmaea

to constitute

cmarosumu,

yacmia, cmaexa,

Deputy Governor

207108 NPAGJIIHHA

retail banking

on behalf of 810 imeni stake o
nakem axkyiu
. . . 8MPYUamucs,
to maintain niompumyeamu to 1ntervene Py
nepewKooicamu
Court of Directors | Pada dupexmopis bank holiday o@iyitinull UXIOHUI Oelb
30CMYNHUK OauKieCcoKi nocayeu

011 QhizuuHUX 0CiO

banxiscuKi nocuyau 0
BENUKUX KOPNOPAMUBHUX
KAi€HMI8, 3a0Y006HUKIE,

sovereign MOHapx wholesale banking | . . o
iH8ecmopis, NeHCIliHUX
¢onoie ma deporcasHux
YCManoe

. sumse 3 OAHKIBCbKO20
monetary 2POULOBO-KPeOUMHULL :
. bank statement PAXYHKY Kli€eHma,
authority opean

bananc 6anky (Ha oamy)

the chief function

20/]106HA (YYHKYIs

Federal Reserve
System

Dedepanvha pezepena
cucmema (CILLA)

accepting house

akyenmuutl OaHK,
akyenmuuil 0im (Anenis)

enactment

NPUUHAMMS 3AKOHO00ABYO20
akmy

discount house

00.1iK08ULL OYOUHOK
(incmumym, wo Oie Ha
JIOHOOHCHKOMY
2POULOBOMY DUHKY, AKULL
3anosuyye

8 6aHKie KOPOMKO-
MepMIHO8I Kowmu ma
iHgecmye

ix ¢ incmpymenmu
2POUL0BO20 DUHKY)

Federal Reserve Act

3aKOH
npo @edepanviy pezepemy
cucmemy

6 CIIIA

note-issuing

Op2aH, AKUL MAe npaso

Federal Open

gedepanvruii komimem 3
onepayii Ha 8i0KpUmMomy

authority 8UNYCKY OAHKHOMIB Market Committee puniy ®PC CLIA
worn notes cmapi / 3noweni kyntopu | dual mandate NOOBIIHUL MAHOAM
branch manager |kepignuk ¢hinii to be composed of | ckradamucs 3
custodian Xpanumeb, 0XOPOHEYb advisory councils KOHCYIbMAMUSHI paou
Treasury bills KA3HA4eucbKl 8eKcei branch Qinis

stocks akyii, 3anacu current issues NOMOYHI NUMAHHA

foreign exchange
market

8AIIOMHUL PUHOK

headquarters

wmab-keapmupa

Federal funds rate

NpoYeHmHa cmasKka no
gedepanvhux
xkowmax(CILLIA)

sole currency

€OuHa sanroma
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3. Use the words in the box in the correct form to complete the sentences.
1 — control; 2 — fix; 3 — act; 4 — issue; 5 — influence; 6 — supervise.

4. All the words below can be combined with bank or banking.

1) bank account — 6aHKIBCbKHH paxyHOK;

2) bank balance — 3anumIok Ha paxyHKY;

3) central bank — 1ieHTpaIpHUM O0aHK;

4) bank clerk — 6aHKIBCHKHI CITy’KOOBEIIH;

5) commercial bank — komepuiiiHUl OaHK;

6) bank deposit — 6aHKIBCHKUIA JICTIO3HUT;

7) bank holiday — odimilianii BUXiTHAN JEHB;
8) investment bank — iHBecTUIIIHiHUI OaHK;
9) bank manager — kepyrouunii 0aHKOM;

10) merchant bank — ToproBuii 0aHk;

11) bank note — GaHKHOTA;

12) bank transfer — 6aHKIBChKHII TepeKkas;

13) retail banking — GaHKiBChKI MOCTYTH i PI3UUHUX OCIO;

14)  bank robbery — norpabyBanns 0aHKYy;

15) savings bank — omagHuii 6aHK;

16) bank statement — BUTAT 3 paxyHKY;

17) banking system — OaHKIBCbKa CUCTEMA;

18) wholesale banking — OaHKIBCbKI MOCIYrM MJIi BEJIMKUX KOPIOPATUBHUX
KJIIEHTIB, 3a0yJOBHUKIB, IHBECTOPIB, IEHCIMHUX (POH[IIB Ta JEP:KaBHUX YCTAHOB.

S. Complete the sentences with the appropriate form of the words provided
in brackets.

1 — commonly; 2 — traded; 3 — Japanese; 4 — mainly; 5 — currencies;
6 — particularly; 7 — referring; 8 — accepted.
ek

1. Decide if the statements are true (T) or false (F)? Correct the false ones.

1. F. Event such as the Great Depression was the major factor leading to changes in
the system.

2. F. The FOMC typically meets eight times a year in Washington.

3.T.

4. F. The Federal Reserve has both private and public aspects.
5.T.

6. T.

7. T.

2. Insert the correct prepositions or conjunctions.

1—-to;2—of;3—1nto; 4 —1n; 5 —of; 6 —as; 7 — as; 8 —1in.

3. Complete these sentences about Central Banks using the words in the box.
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1 — to serve; 2 — to supervise; 3 — to protect; 4 — to manage; 5 — to maintain; 6 — to
provide;

4. Translate into English

1. Federal Reserve System helps to assure the safety and efficiency of the
payments system.

2. The Board of Governors in the Federal Reserve System has a number of
supervisory and regulatory functions in the U.S. banking system.

3. Some regulations of the Board apply to the entire banking industry, whereas
others only to member banks.

4, The Federal Reserve sets monetary policy by influencing the Federal funds
rate.

5. Central banks are custodians to the official gold reserves

6. The United States dollar is mainly used in international operations.

7. The Bank of England maintains price stability and promotes economic
growth.

8. The Board of Governors of the Federal Reserve System is chosen by the
President and approved by the Senate.

9. The Federal Reserve System consists/is composed of 12 Federal Reserve

banks and 25 branches.

10. The Board of Governors is responsible for analysis of domestic, international,
economic and financial conditions.
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UNIT 8

MANAGEMENT

The active vocabulary of the Unit.

oyiHo8amu
to measure . .
/ 6CIMAHOBII0EAMU available resources HAs18HI pecypcu
performance . .
pe3yrbmamu Ois/IbHOCMI
HACMABHUYMBO,
to set objectives 6CMAaHOBII08amuU Yini job coaching MpeH)8aHH3,
CMAXNCYyB8aHH5

to achieve targets

docsieamu yinet

to be good at

000pe 3namucs Ha,
oymu 30i0HUM 00

to allocate resources

posmiugyeamu

to instill in sbd the

HABI08AMU HA KO2OCb

/ euodinsamu pecypcu desire basicanms
. HUKamu
. . to avoid Y
to supervise Haenaoamu; 3agioysamu | . . . HenpasuIbHO20
misinterpretation
MAYMAYeH s
to allow for cnpusmu to meet the needs 3A0080]IbHAMU NOMpeoU
nepeoasamu;
to empower YNnosHosaxlcysamu to convey .
noGI0OMAAMU
iHhexyitinuil, 3apazHutl,
subordinate nioneznui contagious 3apaznusuil
(cmix mowo)
. . . . Oymu 8i0nogioanbHuM
innovation iHHOBayis, HOB0BBedeHHs |to be accountable for

3a

public authority

depoicasra 61adda

feedback

360POMHUL 38 130K

. niOB8UYEeHH s cmedicumu
promotion e to track the progress
no cnyoxcol 3a npozpecom
to perform task suKoHysamu 3a60anus | supplier NOCMAa4anbHUK
. . 3anumamucs cmeoprogamu
to remain poise . to produce an outcome
VPIBHOBACEHUM pe3yromam
N . iCmoOmHUL, 8AXHCTUBULI,
approach nioxio substantial y
SHA4YHUU
. . . giooasamu npiopumem
to 1improve noainutysamu to put priority on
YoM)Cb
. 3aeepuiysamu,
to accomplish PULY
BUKOHY8aMU

Pre-reading task:
1.
equivalents

Match the following words and combinations with their Ukrainian

1-h);2-a);3-d);4-2);5-¢);6-1);7-b);8-¢);9-]); 10-1).

2.

Answer the following questions.
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1. The success or failure of companies, public sector institutions and services,
not-for-profit organizations, sports teams, and so on, often depends on the quality of
their managers.

2. Drucker was an American business professor and consultant who is often
called «The Father of Modern Management.
3. Drucker suggested that the work of a manager can be divided into five tasks:

planning  (setting  objectives), organizing, integrating (motivating and
communicating), measuring performance, and developing people.

4. He thinks that managers have to measure the performance of their staff, to
see whether the objectives or targets set for the organization as a whole and for each
individual member of it are being achieved.

5. Yes, they do. A company’s top managers have to consider the future, and
modify or change the organization’s objectives when necessary, and introduce the
innovations that will allow the business to continue.

6. There is no a clear answer. There are management skills that have to be
learnt, but management is also a human skill.

4. Match up the following words with their definitions.
1-d);2-e);3-b);4-1;5-h);6-g);7-a);8-c).

S. The text contains a number of common verb-noun combinations. Use the
word combinations in the box to complete the sentences below.
1. After an organization has set objectives it has to make sure that it achieves
them.
2. Managers have to find the best way fo allocate all the human, physical and
capital resources available to them.
3. Some people perform tasks better on their own while others work better in
teams.
4. Managers supervise the work of their subordinates and try to develop their
abilities.
5. Managers measure the performance of their staff to see whether they are
achieving their targets.
6. Top managers have to be prepared to deal with crisis if they occur and then
have to make quick decisions.
6. Replace the underlined combinations with their logical equivalents:
1) to use — to put into practice;
2) assigning — allocating;
3) to assess — measure the performance;
4) to do the task — perform the task;
5) to work out targets — to set objectives.

qeskesk

2. Translate the following sentences from the text.
1) MOCEPETHUK MIX;
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2) YHUKATH HEIPABWIBHOTO TIIYMAa4€HHS;

3) pPO3BHUBATU HABUYKH MTEPEMOBHUH;

4) KOPHCHO;

5) YIIOBHOBAKUTH;

6) HaBIIOBATH HA KOroCh Oa)KaHHS,

7) 3a/I0BOJIBHSITH TIOTPEOU;

8) OyTH BIANOBIIAJILHUM 3a;

9) 3alpOIOHYBATH 3BOPOTHUH 3B’ S30K;

10) 3HOCHTH CcTpec.

3. Translate the underlined sentences.

And you satisfy customers by giving good quality of service or product and take care
of their needs. — I 6u 3a0o6obHACME NOKYNYI8, HAOAIOYU NOCTY2Y YU MOBAP 00OPOT
AKocmi, [ niKayemecs npo ix nompeou.

Set the example by being accountable for your own activities and performance. —
Ilooaiime / noxasicimo npuxknad mum, wo 6u bepeme GiONOBIOANbHICMb 34 6AACHY
Oisinbhicms i pesynemamu  yiei Oianvnocmi | Ilokaxcimes npuxiao, 6y0yuu
8I0N0GIOANLHUM 3A C80I BUUHKU MA OISNbHICD.

4. Match the verbs on the left with nouns and phrases on the right.
1-1);2-h);3-g)4-e)5-1);6-]));7-c);8-d);9-b); 10-a).

S. Complete the text using the correct form of the words in brackets.

1) basic; 2) objectives; 3) employment; 4) opposite; 5) reasonable;
6) competition; 7) government.

6. Translate the following sentences into English.

1. The task of every successful manager is to set objectives and decide how to
reach them.

2. Senior managers of the company deal with crises that arise very often.

3. He was good at allocating resources and measuring the performance of his
employees, that’s why he became the CEO of this successful company.

4. I would never want to make a decision about salary / pay and promotion.

5. What would you do to avoid misinterpretations and dissatisfactions of your
subordinates if you were the manager?

6. Develop your negotiation skills by holding staff meetings.

7. How well an employee works depends on his/her motivation.

8. If you work harder on your personal growth, you will become a respected
leader.

9. Have you already communicated your vision of the company’s future to your
subordinates?

10.  To track the progress of your employee’s activities and effectiveness means to
be aware of what is going on in your company.
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UNIT 9

MANAGEMENT STRATEGIES

The active vocabulary of the Unit.

npueanHa KOMNAHIsA

KepigHUYmeo D . )

top management major line of business | conosna nanka 6iznecy
KOMNAHI]

expansion DPO3UUDEHHSL to decide on subpamu

subsequent HACMYNnHUU to work out onpayvosysamu (Niau)

to compile a list CKIACMu CHUCOK to establish objective 6CMAHOBII08AMU YLl

. 30i6Hicmb, to carry out an .

capability . X npoBOOUMU AHAL3
30amHicmy analysis

to enter markets 6X00UMU HA PUHKU SWOT analysis CBOT ananis

to pull out of markets | suxooumu 3 punxie converting nepemeopeHHs

. Habyeamu, o niKsioysamu,

to acquire to eliminate
3000y6amu SHUWY8amu
akyionepme

public company Moeapucmeo threat 3azpo3a
BIOKpUMO20 MUy

privately-owned pe3yrbmamu

company performance

partnership

8 KOMNAHbUOHU

company OislbHOCMI KOMNAHIT
.. Micist, 0OpyueHHsl, .
mission to evaluate OYiHIO8aMU
mMema
attainable 00CAICHU growth rate memnu 3p0CMAaHHs.
. 03CYONIUBULI,
cnabke micye, posey .
weakness . prudent PO36AANCTIUBUIL,
HeOOoiK .
nepeobaunueuil
mak camo sK, N HCUBYUICMD,
as well as viability Y .
a maxooic AHCUMMEZOAMHICMb
to take into 83amu

Pre-reading tasks

1. Pick up adjectives out of the words supplied below and make the list of

their suffixes.

-ic (strategic, public, specific); - ent (efficient, excellent); - al (financial, external); -

an (human).

2. Some of the adjectives can also be nouns.

public, objective

- To finance this, the company may develop another strategy, the issuing of new
shares to the public. (apmuxv)
- Its purpose is to indicate the strategies the management will use to achieve its
objectives. (imeHHUKY nepedye 3aUMEeHHUK itS , Tuue IMEHHUKU MAaoms MHONCUHY (—

5))
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- So giving service became the overall objective of the company, and has
remained ever since. (apmukiv, npuxmemuuk overall sik o3nauents 0o iMeHHUKA)

3. Translate the following phrase with to be + to (infinitive) into Ukrainian.
1)  how the company is to get there — 1) K KOMIIaH1s MOBUHHA JICTATUCS TY]IU;

2)  which markets are to be entered — 1) Ha sIKi pUHKHU TUIAHYIOTh YBIUTH; 2) Ha SIK
pUHKH Tpeba yBiiTH; 3) Ha K1 pUHKU Tpeda Oy/ie yBIUTH;

3) what new products are to be developed — 1) Aki HOBI NPOAYKTH IUIAHYIOTH
PO3BUHYTH; 2) SIKI HOBI IPOAYKTU TpeOa pO3BUHYTH;

4)  what products are to be acquired — 1) sKi TPOAYKTH IUIAHYIOTh JOCSTTH; 2)
SKUX MPOAYKTIB Tpeba J0csrTy; 3) sSKi MPOAYTH MOBUHHI OyTH JOCATHYTI;

5) what mission is to be decided on — 1) Ky cTpaTerito IIaHYIOTh BUSHAUUTH; 2)
SKY CTpaTeriio IUIaHyIOTh BU3HAYUTH; 3) SIKY CTPATETi0 MOTPIOHO Oy/ie BU3HAUNTH;
6) what mission is to be in the future — 1) KO0 IUIAHYETbCS CTpaTEris Y
MalOyTHROMY; 2) SIKOIO TIOBUHHA OYTH CTpaTerisi y MaiOyTHHOMY.

4. Find in the text the sentence containing the model and translate it into
Ukrainian.

1. For example, top managers must decide which markets to enter and which to pull
out of; how expansion is to be financed; whether new products will be developed
within the organization or acquired by buying from other companies.

Hanpuknao, kepisnuymeo nosunuo eupiutyeamu, Ha sKi pUHKU 6XOO0UMU [ 3 AKUX
BUXOOUMU, AK PO3UIUPEHHSI ROBUHHO Oymu npoginancosano; uu opzawizayis 0yoe
PO3pobasIMU HOBL NPOOYKMU CAMA YU iX NpUOOAIOMb, KYNy4u 8 [THUUX KOMNAHII.

S. Following the example from Ex. 3 translate the phrases into English.

1) sixa mema nosunna 6ymu docseHyma — what aim is to be achieved; 2) saxy iderwo
niaanyioms pospodoumu — what aim is to be worked out; 3) saxy xomnaniio naamnyioms
Hayionanizyeamu — which company is to be nationalized; 4) saxi nocryeu noeumnmi
oymu Haoani — what services are to be provided; 5) saxi mawunu nranyromo
sunyckamu — what cars are to be produced; 6) axy cmpamezito mpeba suznauumu —
what mission is to be decided on.

6. Complete the following sentences paying attention to the italicized part.

1. (Before doing any kind of strategic planning), the management must be sure of
one thing.

2. (Before making a decision as to the mission and the purpose), they must know
why the business exists.

3. (Having decided on its mission and purpose), an organisation will have worked
out certain more specific objectives.

4.  (Before deciding on strategies), planners have to look at the company’s present
performance.
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8. Read the text again and answer the questions. Use the answers to make up
the summary of the text.

1. One of their key tasks is to make major decisions affecting the future of the
organization.

2. These strategic decisions determine where the company is going and how it will
get there.

3. Deciding the mission and the purpose is the foundation of any planning exercise.
4. They decided that the company was in business to provide goods of excellent
quality, at reasonable prices, to customers from the working and middle classes.
Providing value for money was their mission and purpose.

5. The head of the organization at that time, Theodore Vail, realized that a privately-
owned telephone and telegraphic company might easily be nationalized, if it didn’t
perform well. To avoid this fate, it had to give efficient service to its customers. So
giving service became the overall objective of the company, and has remained ever
since.

6. Having decided on its mission and purpose, an organization will have worked out
certain more specific objectives. For example, a car firm may have the objective of
producing and marketing new models of cars in the medium-price range. Another
objective may be to increase its market share by 10% in the next five years. As soon
as it has established its more specific, medium-term objectives, the company can
draw up a corporate plan.

7. Before deciding strategies, the planners have to look at the company’s present
performance, and at any external factors which might affect its future.

8. When can the company evaluate its objectives and perhaps work out new ones?

9. What is the remaining task of the organization?

10. What does a company usually decide after this?

Hskk

Pre-reading task

1. Match the following words and combinations with their Ukrainian
equivalents.

1-b);2-1);3-e);4-2a);5-]);6-1);7-h);8-d);9-c¢); 10—g); 11 -1); 12—
K).

2. Fill in the box.

Verb Noun Adjective
to use use, usage, user useful
to favour favour favourable
weaken weakness weak
enable capability capable, able
to compete competition competitive
to govern government governmental
to advise advice advisable
to converse conversion converse
to achieve achievement achievable
to threaten threat threatening

31




3. Answer the questions to the text.

1. SWOT analysis (alternately SLOT analysis) is a strategic planning method
used to specify the objective of the business project, identify and evaluate factors that
are favourable and unfavourable to achieve that objective.

2. These factors involve: strengths, weaknesses, opportunities and threats.

3. Internal factors are the strengths and weaknesses which are internal to the
organization. External factors are the opportunities and threats presented by the
external environment to the organization.

4. Yes, they do because if the objective is NOT attainable a different objective
must be selected and the process repeated.
5. It may tend to persuade companies to compile lists rather than think about

what is actually important in achieving objectives. It also presents the resulting lists
uncritically and without clear prioritization.

6. They are matching and converting. Matching is used to find competitive
advantages by matching the strengths to opportunities. Converting is to apply
conversion strategies to convert weaknesses or threats into strengths or opportunities.
7. The usefulness of SWOT analysis is not limited to profit-seeking
organizations. SWOT analysis may be used in any decision-making situation when a
desired objective has been defined. Examples include: non-profit organizations,
governmental units, and individuals. SWOT analysis may also be used in pre-crisis
planning and preventive crisis management, SWOT analysis may also be used in
creating a recommendation during a viability, study/survey.

4. Decide if the following statements are true or false.

1. True

2. False. Threats are external elements in the environment that could cause
trouble for the business.

3. True.

4. True.

5. False. One way of utilizing SWOT is matching and converting.

6. False. Matching is used to find competitive advantages by matching the
strengths to opportunities.

7. True.

8. False. SWOT analysis is just one method of categorization.

9. True.

10. True.
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S. Insert the prepositions in the following sentences if necessary.

1. SWOT stands for strengths, weaknesses, opportunities, threats.

2. It is suggested that external elements could cause trouble for the business.

3. This factor doesn’t have any impact on the organization.

4. It is very important to identify SWOTs because subsequent steps in the process
of planning may be derived from the SWOTs.

5. Utilizing SWOT includes matching and converting.

6. Translate the following sentences into English.

1. The task of a manager is to decide which markets to pull out of.

2. Once ... / Having decided on planning and decision-making, objectives and
tasks can be set at lower levels.

3. Having established its medium-term objectives, a company can draw up a
strategy.

4. Top management must be sure how the company has to enter the new market.
5. They know what mission to decide on.

6. SWOT analysis enables top management to get greater profits.

7. Determining internal and external factors will help us to make a subsequent
step in planning.

8. These unfavourable conditions will cause trouble for the company, if we
can’t avoid all the threats.

0. He persuaded the top management that to compile a list of all weaknesses

and threats is better than to do nothing.
10. Do you know how to use SWOT analysis in pre-crisis planning and to achieve
the set objective?
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UNIT 10

MANAGEMENT STYLES

The active vocabulary of the Unit.

RIOKOPAMUCS, BUKOH)8AMU

to implement

30IliCHI08aMU

(oneself) with

obey orders distinctive BIOMIHHUIL, XapaKxmepHuil
HaKa3
to come to a .
. nputimu 00 GUCHOBKY to refer to NOCUNIAMUCS HA
conclusion
to retain power VIMPUMY8aAMuU 61A0y ultimately 3peuimoro, Kineyv KiHyem
0 3acny208y€ NPUMYULYBAMU, NIO2AHAMU,
trustworthy “ eoeye to urge PUMPLLLY .
Ha 008Iipy; HAOTUHUL cnonykamu, niobyprosamu
participative AKMUBHULL to sum up niocymysamu
. . N . . UBUKYBAMU YUMOCD,
appropriate BI0NOBIOHUI, HANEHCHUL to put sth at risk PUSURY .
niooasamu Woco pU3UKOBI
. . . NPUCTYXAMUCD
obsession 00epacumMicme to take tips PUCLY .
00 K020Cb, 00 Yueich nopaou
in case HA 8UNAOOK, y BUNAOKY to give input podOUmuU 8HeCoK
. nIOCUNI08amMu, NOCUNIOBAMUL;
expenses sumpamu to reinforce N
nioKpinoeamu
mypoysamucs
BUKOHY8aMU, to concern npo WoCs, YIKagumMuUcs,

s3aumamucs (yumce — with, in,
about)

eye-catching

Maxuti, wo npueepmac
yeazy

1. Answer the following questions.

1. Employees are expected to obey orders without receiving any explanations
according to autocratic management style.

2. Bureaucratic management style occurs where the manager acts strictly
according to instructions, procedure or policy.

3. «Hands-off» style 1s also known as the laissez-faire management style. It is one
according to which the manager provides little or no direction and gives employees as
much freedom as possible. All authority or power is given to the employees and they
must determine goals, make decisions, and resolve problems on their own.

4.  The democratic manager keeps his or her employees informed about
everything that affects their work and shares decision making and problem solving
responsibilities.

5. Democratic management can produce high quality and quantity of work for
long periods.

6. It is not successful when personnel is not skilled or experienced.

2. Find the English equivalents in the text and translate the sentences.

1) to retain power; 2) strictly according to instructions; 3) the employees are expected

to; 4) without receiving any explanations; 5) to determine the goal; 6) skilled and

experienced employee; 7) a final say; 8) to respond with cooperation and team spirit.
34



3. Complete the sentences choosing the appropriate form.

1. According to Autocratic management style, employees are expected ...
(obey, to obey, obeying) the rules without ... (to receive, received, receiving) any
explanations.

2. Bureaucratic management style can be effective when employees perform the
tasks that require ... (handle, to handle, handling) cash.

3. If all authority is given to the employees, they must ... (make, to make,
made) decisions on their own.

4. Laissez-faire style is effective if the employees are ... (experience,
experiencing, experienced) and ... (educate, educating, educated).

5. Participative style encourages the workers ... (be, to be, being) part of

decision-making process.

4. Find in the text words that mean the following.
a) creative;

b) to retain;

c) to obey;

d) laissez-faire;

e) trustworthy;

f) to affect;

g) a coach;

h) co-operation.

Hokk

1. Scan the text and name 3 management styles described here.
Autocratic, democratic and laisser-faire.

2. Decide if the following statements are true or false.

1. False. Different styles are appropriate for different situations or types of
business.

2. True.

3. False. Bill gates signed expenses for Steve, his right-hand man.

4. True.

5 True.

3. Find in the text these words and combinations, translate the sentences.

1) route to success — IIISAX 70 yCHixy; 2) point of obsession — MOMEHT OAEPKUMOCTI;
3) right-hand man — npaBa pyka; 4) management policy — ynpaBJiHCbKa MOJIITUKA; 5)
eye-catching headline — 3aronoBok, koTpuii nmpuBeprae ypary; 6) key message —
KJIIOYOBE IMOCJIaHHs; 7) to put sbd’s job at risk — mignaTu 4Mioch nocaay pusmky; 8) to
implement a system — BUKOpHUCTaTu cuctemy; 9) to limit a report — 0OMeXUTH 3BIT;
10) to take a tip — npucityxaTucs 10 IOPAJIH.
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S.  Provide definitions.

1) asset — any property owned by a person or firm; 2) staff — a group of people
employed by a company; 3) owner — a person who owns; legal possessor; 4) memo —
a note from one person or office to another within the same organization, 5) style —
the way in which sth is done; 6) key message — the main idea; 7) to urge — to try
very hard, to persuade;
8) appropriate — right or suitable, fitting; 9) obsession — a persistent preoccupation,
idea, or feeling; 10) to assess — to judge the worth, importance of.

6. Translate the following sentences.

1. I came to a conclusion that employees are expected to obey orders without
receiving any explanations.

2. However, it is better not to take tips from experts but to take decisions on
your own.

3. The headline was so eye-catching that even inexperienced person could say
that the article would be successful.

4. His obsession of different management styles put his position / job of a
manager at a risk.

5. Laissez-faire management style can be applied when employees are
trustworthy, experienced, educated and proud of their work.

6. The manager had limited all memos and reports to one piece of A4 before he
resigned.

7. Why didn’t you implement a system where employees would assess their
own managers last year?

8. He was so obsessed by managing the company that he even signed all the
expenses of Bill Johns, his right-hand man, without reading them.

9. On the other hand, he believed that the only route to success was the use of

only one management style.
10.  He had been running his business for ten years and then decided that it was not
his cup of tea.
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UNIT 11

MAKING A DECISION
The active vocabulary of the Unit.
to be based on bazysamucs Ha to drop ONYCMUmMU, UYYUMU
judgment CYOIHCEHHS profound IPYHMOBHUL, 2IUOOKUL
experienced 00C8i0YeHUll decisive piwyuui
. IHCIMUHKMUGHE S
gut feeling . to provide input pooumu 8Hecok
8I0Uymmsi
. . . to take preparation and | 3atimamu yac
in practice Ha npakmuyi . .
time i Ni020MO6Ky
under circumstances 3a YMO8 to agree on 0OMOBNIAMUCS NPO
to weigh up 38adCY8AMU time-consuming Wo 3aUMac yac
. npuiMamu wocs 3a . oyinumu euoip,
to mistake sth for sth P “ to assess the options i P
iHwe sapianm
to take into account opamu 00 ysaecu on one’s own CAMOCMIUHO
to assimilate 3aceoroeamu . -
. . . . as a saying goes 5K Kaoice npuciie’s
information iHghopmayiro
consequence HAacni0oK to process 00pobsmu
acopmumenm . 00uUmMU 8HECOK,
product range bt to contribute to p
moeapis doyuamucs

Pre-reading tasks

1. Translate the following words without looking them up in the dictionary.
Routine — pytuna; a usual or regular method of procedure, esp one that is unvarying.
Base — 0a3a, ocHoBa; the fundamental or underlying principle or part, as of an idea,
system, or organization; basis.

Motivate — moTuBYBaTH; to give incentive to.

Control — xouTpoJib; to check, limit, curb, or regulate; restrain.

Plan — ninan; a detailed scheme, method, etc., for attaining an objective.

Organize — opranizoByBaty; to arrange methodically or in order.

Problem — npoGnema; any thing, matter, person, etc., that is difficult to deal with,
solve, or overcome.

Strategic — crpareriunuii; of, relating to, or characteristic of strategy.

Action — 1151, BurHOK;something done, such as an act or deed.

Affect — BmuBatu Ha; to act upon or influence, esp in an adverse way.

Direction — nanpsim; the act of directing or the state of being directed.

Selection — BuGip; 106ip; a thing or number of things that have been selected.
Rationally — pamnionansHO; po3ymHO; in accordance with the principles of logic or
reason; reasonably.

Practice — npaxTuka; 3aCTOCyBaHHS; 3A1ICHEHHS Ha MPaKTHIIl; repetition or exercise
of an activity in order to achieve mastery and fluency.

Locate — po3minyBaTtu (po3TanioByBaTu); to situate or place.
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2. Derive nouns from the given verbs as in the model.

organize — organizing ; solve — solving;
motivate — motivating; sell — selling;
control — controlling; manage — managing.

3. Translate the following adjectives with the suffix —al.

rational PayioHanIbHUU essential icmomHuu
additional 000amKo8uli economical EeKOHOMHUU
managerial VIPABIIHCOKULL historical icmopuynu
special ocoousull

4.Do you think economical and economic, historical and historic have the same
meaning? Check it.

Economical — exkonomumii; using the minimum required; not wasteful of time,
effort, resources, etc or frugal; thrifty; e.g. economical engine, economical wife
Economic — ekonomiunmii; of or relating to an economy, economics, or finance; e.g.
economic situation, economic crises.

Historical — based on or constituting factual material as distinct from legend or
supposition; based on or inspired by history; e.g. historical novel

Historic — famous or likely to become famous in history; significant; e.g. historic
battle.

More adjectives with the suffix -ic — scientific, specific, public, strategic, optimistic,
artistic.

Read the text and answer the questions provided below.

Management functions are planning, organizing, motivating and controlling.
Decision-making is a key management responsibility.

Some decisions are of the routine kind. Other decisions are often intuitive ones.
Many decisions that involve problem solving are more difficult to make.

A useful approach to this sort of decision-making is to collect facts and weigh
up courses of action.

6. They are as follows: a) defining the problem; b) analyzing and collecting
information; ¢) working out options and d) deciding on the best solution.

7.  Yes, he can. Perhaps he will compromise, using more than one option.

8. A good manager should carefully assess the options, considering the
advantages and disadvantages of each one.

N

7.Translate the following sentences paying attention to the italicized parts.

1. Other decisions are often intuitive ones. Inwi piuenus vacmo iHmyimuesHi.

2. The manager may have a gut feeling that certain course of action is the right
one. MeHemKep Mooxce MaTU I[HCMUHKMUGHe 6i0uymms, 10 TIeBHA TOBEIIHKA €
MIPaBUIIBLHOIO (110 T€, 10 BiH Oy7e pOOUTH € IPaBUILHUM).
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3. To make good decisions, the manager should be able to select, rationally, a
course of action. IlJob6 npuiinamu npasunivHe piuieHHs, MEHEIKEp TMOBUHEH OyTH
3IaTHUM paIlioHaILHO BUOpaTH, 110 BiH pOOUTHME (TIEBHY TTOBE/IIHKY ).

4. Before making a decision, the manager will carefully assess the options. /lepeo
MUM K NPULHAMU piulenHs], MEHEKEP YBaXKHO OI[IHUThH BaplaHTH.

5. Having done this, he will have to take a decision. 3poouswu ye, BiH TOBUHEH
OyJie MPUUHSITH PIIICHHS.

6. He may solve his problem by making changes in the product range, increasing
advertising.... Bin moowce BupimmTi po0iemMy, euicuiu TIEBHI 3MIHA B aCOPTUMEHT
IPOAYKTIB, 30i1bUUEUIU PEKIIAMY ... .

8. Complete the following passage with the correct forms of the words in the
box below. Look the meaning of these words in the dictionary.
1) arisen; 2) rose; 3) raise; 4) rise; 5) raising; 6) rise.

selesk
1. Read the text and answer the following questions.
1. They may involve assimilating a huge amount of information, exploring many
different ideas, and drawing on many strands of experience.
2. ?
3. Many decisions need full group participation to explore the situation, provide

input, and make a final choice.

These approaches vary, depending on a number of different factors, including:
The type of decision.

The time and resources available.

The nature of the task being worked on.

The environment the group wants to create.

Team input is challenging because as the saying goes, if you put three people
together in a room, you’ll often get four opinions.

6. All members should discuss alternatives until they agree on a solution.

7. Probably those decided by a team, because as everyone has fair input, the
decisions reached are often ones that all can live with.

Ve o0 @

2. Fill in the box. Complete the sentences below.

Verb Noun Adjective Adverb
to involve involvement involved -
— consequence consequent consequently
to decide decisiveness, decision deqswe . . decisively
(piwyuui, nepekoHaIUBUILL)
to participate participation participating, participative —
to differ difference different differently
to vary variety varied varyingly
fo appropriate appropriacy appropriate appropriately
agreeably
to agree agreement agreeable (pleasant) (pleasantly)
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1. To make a right decision , there must be different approaches.

2. All members of the team should discuss this problem till the agreement is
reached.

3. What leader is he? He is very decisive (piuiyuuii, nepexonnueuii).

4. Team-decision techniques should be used to get participation and achieve
consensus.

5. The techniques involved helped the manager of the company to make

appropriate decision.

3. Find in the text terms that match to the following definitions:

a) agreement; f) challenge;

b)  profound g)  saying

c) decisive h) alternative

d) input 1) appropriate

e) available 1 to contribute
4. Translate the following sentences.
1. Before making a decision, a manager should assess the available options.
2. It is worth saying that this problem may be solved by increasing advertising.
3. The task is to hire the right staff.
4. Once you have got into a trouble, you should look for a way out.
5. Do companies always support a policy of buying goods only from one
supplier?
6. If a complex problem arises in a company, you should weigh up all pros and
cons.
7. It is difficult to make this decision since it involves problem solving process.
8. In practice to make the right decision, we had to collect (assimilate —

3aCBOITH, MPOMYCTUTH Kpi3b cebe) a huge amount of information.

9. In carrying out such management functions as planning, motivating,
organizing and controlling, a manager must always be decisive.

10.  When you operate on your own, it always takes more time and preparations.
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UNIT 12

LEADERSHIP

The active vocabulary of the Unit.

to come to a

npuimu

to communicate

ooHocumu ioei 0o

39.00 0o 17.00 200.

conclusion 00 BUCHOBKY ideas to
3anesHamU,
to point out eKaszyeamu to assure caparmyeamu,
3abe3neyysamu
as far as 00 miei mipu, wo inborn qualities 8P00dICEeHT AKOCI
predictable OUIKy8anUll hostility 680pOdICICMb
. BUKOHY8aMU to be advantageous | Oymu ucionum
to accomplish a task Y & Y
3a680amnHsl Jor 0151 KO20Cb
CXUnAMU, npusepmamu
dedication gi00anicmo to predispose (00 yococw — to),
Hacmporsamu (Ha)
. 3a tioeo / it CNIBNEePedCUBAHHS,
by his/her example empathy onep
NPUKIA0OM cniguymms
. CcMInu6u, 3yxXeanull,
to inspire Haouxamu bold i
be3copomHuuil
NOCAIO0BHUK, ) ..
follower to aspire fo position | npacHymu nocaou
HACMYNHUK
HAOMIPHO HACMUPIUBULL,
. . YLIbHICMb, YeCHICmb, . 6NesHeHUll Y C8OIX
Integrity . assertive
nopsiOHicmb MeepOIHCEeHHIX
(Oomazanmsix)
. .. pobouuii Oelb .
nine-to-five job emphasis on HAa2010C Ha

to conform fo

V320091CY8AMUCH,
36izamucs 3

gut feeling

IHCMUHKMUGHEe 8i04uymms

npoxXooumu
mutual respect 83AEMON0BAA to get through (uepe3 wocn),
Cnpasamucs (3 Yumocy)
. 3a6e3neyysamu . . 03yM, THmMeneKm,
to supply sbd with Y intelligence POIYM, tHme! .
K020Cb YUMOCh PO3YyM08i 30i6HOCTI
. . nociabnoeamu . 30aznymu, 3po3ymimu,
to relieve tension to figure out ) PO3Y
HAanpyicenHsl poszeadysamu
to make sense mamu cenc to prevent 3anobicamu

1. Find in the text the following combinations and translate the sentences.

1) BKa3yBaTH Ha,

2) TBEpJE PO3YMIHHS;

3) MPOSIBIIATH IMOPSAIHICTD / Y€CHICTD / IUIBHICTB;
4) OCHOBA JIJIf;

5) BUKOHYBATH MOCTABJICHE 3aB/IaHHS,

6) Ha BJIACHOMY TIPUKJIA/II;
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T) y3rOKyBaTHUCH;

8) pe3yJbTaTh HEe TapaHTOBAHI;

9) PO3PAIUTH HATIPYTY;

10) BOJOAITH IHCTUHKTUBHUM BIIUYTTSIM.

2. Read the article again and find the answers to these questions.

1. Leadership, a critical management skill, is known as the ability to motivate a
group of people toward a common goal.

2. While analyzing leadership styles, experts have come to a conclusion that
different styles are needed for different situations.

3. The most important qualities of leadership that were pointed out by experts
are the following: visionary strategy, communication, integrity, dedication, openness,
creativity, risk-taking, sense of humor.

4. ?

5. Natural leaders possess charisma and a gut feeling which help them to get
through hard situations and take right decisions.

6. A person of integrity is the same outside and inside. He or she displays
predictable reactions, well-controlled emotions, honest dealings.

7. Because a person of integrity can be trusted and trust is the basis for almost

all the relationships in our life. Without trust, it’s impossible to create healthy and
productive environment. People will never follow the person they don’t trust.

3. Match the phrases on the left with their meanings.
l-e);2-1);3-d);4-a);5-g);6-c¢);7-b);8-h);9-1);10—}).

4. Provide definitions of the following terms
risk-taking — fendency to engage in behaviours that have the potential to be harmful
or dangerous,

to motivate — fo encourage someone and make them want to work hard;
communication — the process by which people exchange information on express their
thoughts and feelings;

dedication — the willingness to give a lot of time and energy to something because it
LS important;

openness — the quality of being honest and willing to talk about things and to accept
new ideas or people;

leader — the person who directs or controls a group, organization, country;

gut feeling — inform. a strong belief about someone or something that cannot
completely be explained and does not have to be decided by reasoning.

Choose the right phrase to complete the following sentences.
b) motivate people;
b) Trust;
a) relieve tension and boredom;
¢) dedication

-lkwl\)»—*yl
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c) a clear picture of where to go;
b) healthy environment;
creativity
a) to motivate them to work towards common goals;
b) try hard;
0 c¢) Charisma.

— O 0 1 O\ L

kekek

Pre-reading task

1. Find in the text the following combinations and translate them into
Ukrainian.

1) most often-asked question — numanus, kompe naviuacmiuie cmagniams;

2) to cut to the chase — «bauowcue 0o Odinay», nouamu 2cogopumu NpPo BaAMNCIUBULL
acnexkm 4ozocw;

3) one-third — oora mpems;

4) two thirds — 06i mpemunu;

5) it doesn’t make sense — 6 ybomy Hemae ceucy;

6) to predispose people to — cxunsamu nrodeti 00;

7) be advantageous for leaders — 6Oymu gueionum ons nioepis;

8) to prevent somebody from getting — nepewixoodircamu Komyco ompumamu;

9) to aspire to positions of leadership — npaenymu nocaou nioepa;

10) to embark on a leader self-development plan — 6pamucsa 3a nian camopozgumxy
nidepa.

2. Read the text again and find the answers to these questions.

1. The best estimates offered by research is that leadership is about one-third born
and two-thirds made.

2. Extraversion, smartness, social intelligence, empathy and ability to know the
followers are those qualities that predispose people to be and become a leader.

4. "The leader must be able to know what followers want, when they want it, and
what prevents them from getting what they want".

5. Introverts can become good leaders because most of the leaders are made, not
born.

3. Match the phrases on the left with their definitions.
1-h);2-a);3-b);4-c);5-2);6-1):7-1);8-¢);9-d); 10—-)).

4. Choose the right phrase to complete the following sentences.
1 —b) 1/3 born and 2/3 made;

2 — a) leaders can indeed be developed;

3 —¢) raw material;

4 —b) Risk-taking;

5 —c¢) social intelligence;

6 — a) Extraversion;
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7 —b) made, not born;

8 — a) to embark on a leader self-development plan;

9 — ¢) what prevents followers from getting what they want;
10 — ¢) smart.

S. Complete the following sentences with prepositions if necessary.

1. To cut to the chase, this inborn quality is the most important if the person
wants to become a leader.

2. Recently, he has come to the conclusion that his dedication to nine-to five job
was a waste of time.

3. You pointed out the greatest mistakes I had made, didn’t you?

4. Who often supplies you with all those productive ideas?

5. If you aspire to the position of a leader, you must embark on a leader self-
development plan.

6. Sense of humour helps to relieve tension.

7. Is there any evidence that being bold, assertive, or risk-taking can be
advantageous for leaders.

8. What prevented you from getting that position of the manager of a company?

6. Translate the following sentences into English.

1. A good and persistent leader has a clear picture / understanding of where to go
and how to get there.

2. Trust is one of the basic things in communication that helps to create healthy
and productive atmosphere.

3. He asked if it is necessary to accomplish all the assigned tasks.

4. Who in your company shows dedication to his or her profession?

5. This man possesses a gut feeling, doesn’t he?

6. To expect a person to be born with all qualities of a leader doesn’t make any
sense.

7. Is it advantageous for leaders to know their followers?

8. The ability to communicate your ideas and plans to your employees is the most
important quality of a good leader.

9. He showed how to defuse / relieve tension by his own example.

10.  What prevented you from embarking on a self-development plan?
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UNIT 13

WORK AND MOTIVATION

The active vocabulary of the Unit.

3apobimHa niama NOMiCsA4Ha . . KOMRAHIL, Wo
salary competing companies
(cayorcoo8ysi) KOHKYPYIOMb
oniama npayi 3a 200uHy, . .
wage . labour relations TPYAOBI BIIHOCUHU
O0eHb, mudicoensb (PobimHuKa)
. ninvea (K 00NOGHEeHHs . L
perk / benefit ( L . fulfillment camopeanizayis
00 3apoOimHoi niamui)
cmeopiosamu 3anac(u);
. Hakpecaumu, 306pazumu 3anacamu; mamu 8
to outline P P to stock :
8 3a2aNbHUX pUCax HAABHOCMI
(v npooavoicy)
. L cmasumu (3a memy);
. ni08UWEeHHs 3apPOOIMHOI . ( y)
pay rise . to pursue nepecnioysamu,
NIamHi
dobusamucs
under right . 3axnacmu hyHoamenm
.\ 3a CNPUAMIUBUX YMOB to lay a foundation
conditions (1oeocv), 3acHysamu
. . . . mym coyianbHuil nakem
incentive CMumMyn (fringe) benefit from _; erks 4
cnpuimamu K
to assume npunyckamu to take sth. for granted HCZ eorche
esteem noeaza, WaHy8aHHs. recognition BU3HAHHS
to be incapable of doing | 6ymu necnpomoscHum
to apply to 3acmocosysamu 00
sth 3pobumu Wock
job security HaoilHicmb pobomu on the contrary HAaBnaxKu
burden of . . . . .
oy er mseap 8i0N08i0aAIbHOCHI to replace sth with sth  |3aminamu, 3acmynamu
responsibility
repetitive job | oonomanimua poboma sufficient docmamuit
ck suniama 3a oremenem no
sick pay x60p00i
po0i

Pre-reading task

1.

1.a);2.b);3.b);4.¢);5.¢); 6.b); 7. a); 8.b); 9. ¢); 10. b).

3.

The following sentences define some basic words about work. Which ones?

The statements in previous exercise can be separated into two groups

reflecting two very different ways in which employers can treat their employees.

Statement 1 2 3 4 5 6 7 8
Theory X Y X X X X Y Y
4. Answer the questions to the text.
1. Theory X is considered to be rather pessimistic and it assumes that people are
lazy and will avoid work and responsibility if they can.
2. Theory Y is probably more applicable to skilled professionals — managers,

specialists, programmers, scientists, engineers — than people in unskilled jobs.
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3. McGregor’s two theories are based on Abraham Maslow’s famous “hierarchy
of needs”.

4. According to theory X, employees have to be closely controlled because most
people are incapable of taking responsibility for themselves and have to be looked
after.

5. According to theory Y, employers give their workers responsibilities because
most people have a psychological need to work, and given the right conditions — job
security, financial rewards — they will be creative, ambitious and self-motivated by
the satisfaction of doing a good job.

6. Maslow criticized theory Y because there will always be people with little
self-discipline, who need security and certainty and protection against the burden of
responsibility.

5. Find in the text sentences that contain the passive voice and translate
them.

1. They have to be both threatened, for example with losing their job, and
rewarded with incentives, probably monetary ones such as a pay rise or bonuses. /x
mpeba i 1aKkamu (no2poxrcysamu) ..., i GUHA2OPOOHCYBAMU ... .

2. Theory X assumes that most people are incapable of taking responsibility for
themselves and have to be looked after. — ... 3a humu mpeba Haensoamu.

3. It has traditionally been applied, for example, by managers of factory workers
in large-scale manufacturing. /i mpaouyiiino euxopucmosyeanu meneoxucepu ...

4.  McGregor’s two theories are based on Abraham Maslow’s famous ‘“hierarchy
of needs”. ... 2 meopii 6asytomwvcs Ha ...

5. Theory X relates to the basic, “lower order” needs at the bottom of the
hierarchy, such as financial security, while Theory Y relates to “higher order” needs
such as esteem (achievement, status and responsibility) and self-actualization
(personal growth and fulfillment) that can be pursued if basic needs are satisfied. —
AKUX MOHCHA 00OUBAMUCH ...

6. McGregor is widely considered to have laid the foundations for the modern
people-centred view of management. Vci ggaosicaiomn, wjo McGregor 3axnag ocHogy

6. Use the correct form of the Passive Voice in the following sentences.

1. Recently McGregor’s theory has been used by managers in large scale
manufacturing.

2. Two opposing theories of work and motivation were outlined by Douglas
McGregor several years ago.

3. Many people in organization cannot take responsibility that’s why they have
to be looked after.

4. His theories of work and motivation are based on Maslow’s famous
hierarchy of needs.

5. He can be more productive if his needs are satisfied.

6. McGregor is considered to have laid the foundation for the modern people
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centered view of management.
7. She hopes that in future her tries will be rewarded.
8. This target can be achieved.

7. Fill in the box. Use the most appropriate words in the sentences below.

Verb Noun Adjective

to oppose opposition opposing

tfo motivate motivation motivated

to respond responsibility responsible

to threaten threat threatening

— incapability incapable

to relate relation related

to manage management manageable

to achieve achievement achievable

to manufacture manufacture manufacturing

to satisfy satisfaction satisfied

1. The manager threatened his employees that they could lose their job, and
they began to work more efficiently.
2. Mostly people are motivated by high salary.
3. When I started to work in a bank, I was incapable of taking responsibility for
myself.
4. Does your work bring you any satisfaction?
5. What products were manufactured in your country last year?

Heksk

Pre-reading task
1. Match the following words and combinations with their Ukrainian

equivalents.

1 —b); 2 —f); 3 — e) [mpaBuIbHO — MIJIbra, COMIAJIBHUN IMaKeT (JIOMOBHEHHS 0
3apoOiTHOi  mmarmi)]; 4 - g); 5 - a); 6 — ¢; T - d);
8 —h); 9 —)); 10 —1).

3. Answer the following questions.

1. “Hygiene factors” are things like good labour relations, good working
conditions, job security, good wages, and benefits such as sick pay, paid holidays and
a pension.

2. Herzberg thinks that “satisfiers” do not in fact motivate workers. They are

merely ‘satisfiers’ — or, more importantly, ‘dissatisfies’ because workers take them
for granted.

3. ‘Motivators’ include things such as having a challenging and interesting job,
recognition and responsibility, promotion and so on.
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4. If the job is not interesting can give their employees some responsibilities,
not as individuals but as part of a team. Other employers encourage job rotation, as
doing four repetitive jobs a day is better than doing only one.

5. It is important nowadays because with it all the staff can identify: for
example being the best hotel chain, or hamburger restaurant chain, or airline, or
making the best, safest, most user-friendly, most ecological or most reliable products
in a particular field.

4. Decide if these sentences are true or false?
1. False. “Hygiene factors” ‘satisfiers’ — or, more importantly, ‘dissatisfies’ and
workers who have them take them for granted.

2. False. Challenging jobs and responsibility are “motivators”.

3. True.

4 True.

5 True.

6

True.

S. Use words and combinations from the list to fill in the gaps.
1 - ¢) incentives; 2 - a) took for granted; 3 - €) job rotation; 4 - d) team; 5 - b) on the
contrary.

6. Find the words in the text that mean the following:
a) labour relation; b) job security; ¢) wage; d) benefit; e) satisfiers (reward); f) to be

promoted; g) unskilled; h) job rotation; 1) corporate culture; j) challenging.

7. Translate the following sentences into English.

1. If you are incapable of taking responsibility for yourself, then this job won’t
bring you any satisfaction.

2. —What are the advantages of your job?

— First of all, it is high salary, sick pay, and possibility of promotion.

3. Sometimes, when perks / fringe benefits become a rule, we take them for
granted.

4. To avoid repetitive job, managers of the supermarket encourage job rotation.
5. Such benefits as sick pay, paid holidays and bonuses are incentives that
motivate workers to work better and more persistently.

6. “Motivators”, on the contrary, include possibility of promotion, recognition,
etc.

7. If the workers are given financial reward, they will be more creative, more
ambitious, and more motivated.

8. Do you always take a burden of responsibility for taken decisions for
yourself?

0. If people are not motivated, they won’t do their job in a proper way.

10. Two opposing theories of motivation are outlined in this book.
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UNIT 14

CROSS-CULTURAL MANAGEMENT

The active vocabulary of the Unit.

to lead to npusecmu 00 perception CnpuliHaAmMms
3Hamu, oymu npOOAdCHUI,
to be aware of 00i3HaHUM, corrupt posdewenuil
YC8i0oMA08amu (npo 1rouny)
Mmop2yeamucsi
on the contrary Haenaxu to haggle pey
(about, over)
. HAOMIpHO . 00MPUMYBAMUCS CEAM,
assertive P . to observe holiday LMY
HAcCmupaueull CEAMKY8amu
) nepesaxjcamu,
to avoid problems VHUKamu npoonem to take precedence P
bpamu éepx
to exaggerate nepeoinvuysamu cultural competence 3HAHHA KY1bMYypUu
to cause CNpUYUHAMU . .
. . . in brief KOpOMKO
misunderstanding HEeNnopo3YMIHHS
. 3a NPUHYUNOM . . .
by seniority Uy to interact with 83aemooiamu
cmapuiuHcmea
. . MOOOWUL HEenpUuxXuIbHui,
his/her junior . . reluctant PUXLLL
8i0 Hb02O / Hel HeoxXouutl
. aKyis;
to be offended by b6ymu obpasicenum equity . . .
aKyioHepHull Kanima.
. . . KIHYesull mepmiH
to take one’s time He nocniwiamu deadline Y P
BUKOHAHHSL
to distinguish . . Mepmea mouka, 3acmiu;
DPO3PIZHAMU MIdIC deadlock .
between be3suxione cmanosuue
niooasamu nebesneuyi, . . .
to endanger cultural diversity KyJlbmypHe po3maimmsi
3azpoocysamu
loyalty 8i00amnicmo promptly 8i0pa3zy, WeUOKo, MOYHO

1. Find in the text the following word combinations. Translate the sentences.

1) YCBIIOMIIIOBATH MICLIEBl KYJIBTYpHI OCOONUBOCTI — fo be aware of local
characteristics;

2) 0a3yBaTucs Ha — to be based on;

3) 3 OJTHOTO OOKY, 3 1HILIOTO OOKY — on the one hand, on the other,

4) HaBIIaKU — on the contrary;

5) OyTu oOpaxeHuM — to be offended by,

6) HEJIOCBITUCHUN — inexperienced,

7) Ha 20 pokiB Bijg Hporo mosoauii — 20 years his junior;

8) 3a CTApIIMHCTBOM — by seniority;

9) nepiii, ocTaHHi — the former, the latter;

10) ominutH — appreciate.
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2. Answer the following questions.

1. The conflict between globalization and localization has led to the invention
of the word “glocalization”.

2. Companies which want to be successful in foreign markets have to be aware
of the local cultural characteristics that affect the way business is done.

3. In the countries of North America and north-west Europe management is
largely based on analysis, rationality, logic and systems.

4. In the Latin cultures of southern Europe and South America personal

relations, intuition, emotion and sensitivity are of much greater importance than
analysis, rationality, logic and systems.

5. In such cultures status has to be achieved.

6. Universalists believe that rules are extremely important and particularists
believe that personal relationships and friendships should take precedence.

6. Complete the following passage, using suitable words from the list below.
1-1);2-1);3-h);4-e);5-d);6-¢);7-¢g);8-k);9-1);10—j); 11 —a); 12—
b).

Hkskk

2. Read the text and translate the highlighted sentences into Ukrainian.

The more different cultures work together, the more cultural competency training is
essential to avoid problems. — Il]o 6invwie pisHi Kynemypu npayrorwmes pazom, mo
BANCIUBILUOIO € NIO20MOBKA / HABUAHHA / MPeHiHe w000 KYIbMYpHOI 00I3HAHOCMI,
wob YHUKHymu npoo.em.

3. Find the answer to the following questions.

1. Cultural competence is the ability to interact effectively with people from
different cultures.

2. This ability depends on awareness of one’s own cultural worldview,

knowledge of other cultural practices and worldviews, tolerant attitudes towards
cultural differences, and cross-cultural skills.

3. Cultural problems can range from miscommunication to actual conflict, all
endangering effective worker productivity and performance.

4. The problems can arise in communication, team building, time perception,
and calendars.

5. Different perceptions of time can cause a great misunderstanding in the
workplace, especially with scheduling and deadlines.

4. Match the two parts of a sentence.
1-d);2-¢e)3-a);4-b);5-c¢).

S. Find in the text the words that mean the following.
1) competence;
2) endanger;
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3) reluctant;
4) to exaggerate;

5) diversity;

6) perception;

7) deadline;

8) observe.

6. Translate the following sentences into English.

1. He would have avoided problems, if he had been aware of cultural diversity.
2. The more you exaggerate the time perception, the less problems arise.

3. The Japanese would be offended, if an assertive 30 years his junior American
came to the negotiations.

4. What could it lead to, if there were no deadline?

5. There is a policy of promotion by seniority in our company.

6. The more you sell, the more you get paid.

7. Personal relations and friendship take precedence among particularists.

8. The less experienced he were, the harder it would be to conduct negotiations.
0. If they hadn’t signed that contract, he would have taken the first plane home.
10. What holidays do Jews observe?

51



UNIT 15

MARKETING
The active vocabulary of the Unit.
to communicate doHocumu aspiration NpacHeHHs.
. . KOMepyiuna pekiama
to interpret maymadumu sales pitch PY P
(nopyis)
target market YinboBUL PUHOK hassle cynepeuxa
) . . HasoOHI06amMU,
to acquire (mym) 3aeotiogyeamu | inundate
3acunamu
. yenmp
o customer service
customer value CHOJICUBYA YIHHICMD center 00C1Y208Y8aHHS
KIIEHMIB
search engine NOWYKOBUL .
. merchandise moeap
marketing MapKemunz
search engine results | cmopinku
. at best Y Kpawjomy unaoxy
pages pe3yIbmamis NOULYKy
aginvosanuii
affiliate marketing (napmuepcovKuil) at worst y 2ipuiomy UnaoKy
MapkemuHe
Ha OCHOBI .
performance-based . golden customers 30/10Mmi KiEHmMuU
pe3yivmamis
wireless media 0e3nposioHi 3acobu silver customers CpiOHi KnieHmu
early adopters «PAHHI NMAWKU» lead customers OpPY20PAOHI KNiEHMU
. . . . Oinbwicms, o
early majority «panHs OLNLWICTb » late majority
niememuvcs n03a0y
to be manipulated . . .
‘o p niooagamucs 6nausy laggard siocmaroyuil
) oeMoHcmpauis,
showcasing pay
3a2anvHuti onuc

1. Which of the statements do you think is true (T) and which is false (F).
1-T;2-T;3-T;4-F.

3. Read the text and find the answers to the following questions.

1. Marketing is the process of communicating the value of a product or service
to customers.
2. Marketing can be looked at as an organizational function and a set of

processes for creating, delivering and communicating value to customers, and
managing customer relationships in ways that benefit the organization and its
shareholders.

3. Relationship marketing is first of all building and keeping good customer
relations. (Emphasis is placed on the whole relationships between suppliers and
customers).
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4. Business or industrial marketing is building and keeping relationships
between organizations.

5. Social marketing first of all focuses on a benefit to the society. It positions
society issues on the same level as business issues.
6. The main recent approaches to marketing first of all are connected with the

Internet. There are different forms of e-marketing able to reach customers all over the
world. Internet marketing is sometimes considered to be broad in scope, because it
not only refers to marketing on the Internet, but also includes marketing done via e-
mail and wireless media.

7. Another “new” but actually traditional way of marketing is affiliate
marketing, in which a business rewards one or more affiliates for each visitor or
customer brought about by the affiliate’s own marketing efforts. (Affiliates target
their audience more precisely, and are sometimes called personalized marketers or
one-to-one marketers).

8. Branding is the main company philosophy aiming at creating the unique
image of the company (with different specific elements to create this image).
0. Yes, I do. I think marketing to be an important sphere in the working process

of a company (because at the time of globalization it is very difficult for customers to
choose goods or services from the whole scope offered in the market).

10. In my opinion, a company should use the Internet marketing on a large
scale and in different forms to be better known to customers and to reach larger
audience.

4. Find constructions with the infinitive in the text.

1)  can sometimes be interpreted 4)  attempt to perfect
2) can be looked at 5)  is sometimes considered to be
3) the aim is to provide 6) 1s considered to be
1. Marketing can sometimes be interpreted as the art of selling products, but

selling is only a small fraction of marketing. Mapkemune moorcna inooi maymauumu
SAK MUCMEYmM80 Npooaxicy moeapis, ane Npooadxdc € Juule HeGeIuKolo CKIA0080I0
MApPKemuHzy.

2. Marketing can be looked at as an organizational function and a set of
processes for creating, delivering and communicating value to customers, and
managing customer relationships in ways that benefit the organization and its
shareholders. — Mapkemune mooicna posensidamu K opeaHizayiuHy ¢QyHKyin, a
MaKodc sIK KOMNIEKC Npoyecig O/l CMBOPEHHs, OONpAasIeHHs Mmda OOHeCeHHs
YIHHOCMI 00 KILIEHMI8 Ma YNPAGIIHHS 8I0HOCUHAMU 3 KILIEHMAMU MAKUM YUHOM, WoO
NpuUHecmu KOpucms op2anizayii ma ii akyionepam.

3. The aim is to provide the best possible customer service and build customer
loyalty. — Mema nonseae 6 momy, wob 3abe3newumu KiicHMam HaAuKpawuii cepsic i
3a80108amu iXHI0 008Ip) .
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4. It attempts to perfect the segmentation strategy used in traditional marketing.

—  Bin  Hamaecaembvca  60OCKOHanumu — cmpameeilo  ceeMeHmayii,  wWo
BUKOPUCMOBYEMBCA Y MPAOUYIIHOMY MAPKEMUHE) .
5. Internet marketing is sometimes considered to be broad in scope, because it

not only refers to marketing on the Internet, but also includes marketing done via e-
mail and wireless media. — [nmepnem-mapkemune iHOOI 88adxscaemvcs MaKum, wo
MaAe wWupoKy cgepy 3acmocy8ants, OCKLIbKU U020 3ACMOCO8YIOMb He MINbKU 04
mapkemun2y 6 Inmepnemi, ane maxooic 8iH 6KIIOYAE MAPKEMUHe, WO 30IUCHIOEMbCS
eNeKmMpPOHHOI0 NOWMOI0 I 3aco0bamu 6e3npPoBIOHO20 38 3K .

6. Brand value or “branding” is the main company philosophy and marketing is
considered to be an instrument of branding philosophy. — [[innicme 6pendy abo
“Openoune” € O0CHO8HOW inocoicto KoMmnauii, a MapKemuHe B68aAHCAIOMb
iHcmpymenmom ¢hinocoii opendiney.

5 Translate the following sentences using the infinitive.
1. Their goal is to finish the project in due time.

2. His suggestion was to buy these securities.

3. Their request is not to distribute the information.

4. This company is trying to sell most of the shares.

5. The employees of this department are always glad to help.
6. Her task was to find a partner in this unknown market.

6. Translate the following sentences.

1. The term management can sometimes be interpreted as simply managing the
personnel.

2. This document can be interpreted as a preliminary agreement.

3. Internet marketing is considered to be a modern kind of marketing.

4. These securities are considered to generate high profits.

5. The term outsourcing can be interpreted as simply a transfer of functions to
another firm.

6. By that time, the work had been considered (deemed) complete.

7. Open the brackets, use the ... 8. Use the following words to complete..

1) towork 1. competition
2)  tobe developing 2. markets

3) to have been used 3. marketers
4)  tobe involved 4. pitches

5)  to take place 5. effective

6) to perfect 6. consumers
7) to have been 7. customers
8)  to have brought 8.  impressed
9)  have been /to be involved 9. cynical

10) to have lately built
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2. Find in the text the English equivalents of the following word-
combinations.

1) to get advantage over competitors

2) to identify and analyze the market need
3) interpretation of information

4) to get insight and support

5) commodity, merchandise

6) supply and demand situation

7) gender differences

8) market trends

9) competitors

10) to inundate customer centers

3. Answer the following questions.

1. Market research is any organized effort to gather information about markets
or customers.

2. Market research includes social and opinion research, and is the systematic
gathering and interpretation of information about individuals or organizations.

3. Market research began to be conceptualized and put into formal practice
during the 1920s. Advertisers began to realize the significance of sponsorship of
every type of mass media available, especially different radio programs.

4. Market research is used for discovering what people want, need, or believe. It
can also involve discovering how they act. Once that research is completed, it can be
used to determine how to market your product.

5. It is subdivided into gathering market information, finding out market
segmentation, defining market trends, making customer analysis, advertising and
product researching, analyzing risk, etc.

6. Through market information a person can know the prices of different
commodities in the market, as well as the supply and demand situation.

7. Market segmentation is the division of the market or population into
subgroups with similar motivations.

8. The market size can be derived from the information about target market, that
is, from the number of potential customers, or customer segments.

0. Marketing effectiveness can be measured through customer analysis, choice

modeling, competitor analysis, and also through product research, risk analysis,
advertising research and marketing mix modeling.

10. Customer analysis is the process of determining customer segmentation, value,
purchasing behaviour and motivation in order to better target marketing and increase
sales. In practice, it is taking into account that customers are not created equal and
behave differently while purchasing goods and services.

1. Some other marketing techniques are: choice modeling and competitor
analysis.
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Choice modelling attempts to model the decision process of an individual or segment
in a particular context.

Competitor analysis in marketing and strategic management is an assessment of the
strengths and weaknesses of current and potential competitors.

12.  Market research is a research of a given market while marketing research
involves conducting research to support marketing activities, and the statistical
interpretation of data into information.

4. Delete the incorrect word-combination in each group.
1-b)2-¢);3- a)4. -a).

Use the correct word-combinations to complete the sentences.

1) Early adopters; 2) silver market; 3) late majority; 4) customer profile.

S. Translate the following sentences.

1. Market research is a key factor to get advantage over competitors as well as
to provide important information to identify and analyze the market needs, market
size and competition.

2. Advertisers began to realize the significance of sponsorship of every type of
mass media available, especially different radio programs.

3. Market research is used for discovering what people want, need, or believe. It
can also involve discovering how they act.

4. Once that research is completed, it can be used to determine how to market
your product.

5. Market segmentation is the division of the market or population into
subgroups with similar motivations.

6. The crux of customer analysis is that all customers are not created equal.

7. Companies have some customers who are worth their weight in gold.They
are a pleasure to deal with: no returns, no complaints, no hassles.

8. Companies also have customers who make their life miserable. They
inundate customer service centers with calls and constantly return merchandise.

9. Competitor analysis in marketing and strategic management is an assessment

of the strengths and weaknesses of current and potential competitors.
10.  We usually try to get rid of the clients inundating our customer centres with
complaints.
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UNIT 16

MARKETING MIX
The active vocabulary of the Unit.
consumer cnooxcusay advertising peknama
tangible / intangible mamepianvHuil / . . 38 'A3KU
. . public relations .
HemamepianbHull 3 2POMAOCHLKICMIO
disposable 00HOPA308UlL personal selling NepCOHANbHUL NPOOAIC
ubiquitous . e 03N0BCIOONCEHHS],
q scrooucywuil distribution p :
PpO3n00in
range . nepexecmu
£ PA0, acopmumerm to shift the focus to P
axKyeuwm Ha
purchase NOKYNKa viral advertising 8IpYCHA peKnama
access Lo docmyn 00 to implement a eanizyeamu npooyKm
Y product p Y pocy
case of emergency Haozeuuatina cumyayisa |to take into account  |83amu 0o ysacu
profit npuOYmox acceptability NPULHAMHICb
hence . iHancosa
omoice affordability ¢ .
docmynHicmo
to have a profound Mema 30i1bWeHHs
impact . L 00x00i6
mamu 3Ha4Hull 6nIue  |revenue objective .
(yinb ompumanus
BUPYUKU)
price elasticity yinosa enracmu4nicmo | price objective Yini YiHOYMBEOpeHHsl
to set a price B8CMAHOBUMU YIHY convenience 3pyyYHicmb
to complement 00NnoBHI8aMU accessibility docmynuicmo
promotion npPOCYBAHHS awareness 00i3HaHicmb
to prompt action cnonykamu 00 0ii to be aware of Oymu 06i3HanUM
subset . . . |cnputimamu woco aK
nioepyna to perceive sth as fair P “
cnpaegeonuge
to run a special deal . inooobosa /
p sanycmumu cneyianwvry |24/7/365 phone help Y
. be3nepepsHa
nPONO3UYiio desk .
mexniompumxa

2. Answer the following questions.

1. The term marketing mix was coined in an article written by Neil Borden
called “The Concept of the Marketing Mix.” It came from the description of the
marketing manager’s role in promoting the product.

2. The marketing mix is the combination of techniques used to market a brand.
The techniques are often called the Ps.

3. The term product means an item that satisfies what a consumer needs or
wants. It is a tangible good or an intangible service.

4. The term price means the amount a customer pays for the product.

3. The term promotion comprises all of the methods of communication that a
marketer may use to provide information to different parties about the product.

6. The term place means providing the product at a place or location which is

convenient for consumers and accessibility to the service.
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7. The additional four Ps are people, physical environment, process,
productivity and quality.

8. This model is called producer-oriented because it describes all procedures
used to promote goods or services provided by a producer.

3. Choose the correct words from 4. Provide the definitions of the
the brackets. terms.

1) staff, employees (people) 1)  promotional

2) range (product) 2) advertising

3) advertising (promotion) 3) mix

4) accessibility, outlets, locations 4) price

(place) 5) product

5) expensive, competitors, deals (price)

5. Put the words in the correct columns.

Product Price Place Promotion People
branding discounts accessibility | direct marketing | competitors
launch special deals | delivery customers
quality distribution location sales force
reputation
support

Heksk

1. Provide definitions to the following terms.

Affordability is the extent to which something is affordable, as measured by its cost
relative to the amount that the purchaser is able to pay.

Accessibility is the degree to which a product, device, service, or environment is
available to as many people as possible.

Awareness is the state or ability to perceive, to feel, or to be conscious of events,
objects, or sensory patterns. In this level of consciousness, sense data can be
confirmed by an observer without necessarily implying understanding. More broadly,
it is the state or quality of being aware of something. In biological psychology,
awareness is defined as a human’s or an animal’s perception and cognitive reaction to
a condition or event.

Acceptability is to be something that is considered to be socially OK or within the
realm of what is appropriate, or something that is tolerable but not necessarily
desired, that is a person’s ability to easily determine the subject’s capability to
perform its function within an acceptable range. Acceptability criteria can also be
used to determine a tolerable level of risk.

(Business) communication is communication that promotes a product, service,
marketing, or organization; relays information within a business; or functions as an
official statement from a company.

58


http://en.wiktionary.org/wiki/affordable
http://en.wikipedia.org/wiki/Conscious
http://en.wikipedia.org/wiki/Object_(philosophy)
http://en.wikipedia.org/wiki/Pattern
http://en.wikipedia.org/wiki/Understanding
http://en.wikipedia.org/wiki/Biological_psychology
http://en.wikipedia.org/wiki/Perception
http://en.wikipedia.org/wiki/Cognitive
http://www.businessdictionary.com/definition/capability.html
http://www.businessdictionary.com/definition/function.html
http://www.businessdictionary.com/definition/range.html
http://www.businessdictionary.com/definition/risk.html

2. Find in the text the answers to the following questions.

1. The 4Cs model was offered because it is a more consumer-oriented version
of the four Ps that attempts to better fit the movement from mass marketing to niche
marketing and it is more customer-oriented.

2. Product was replaced by customer, pricing was replaced by cost, place was
replaced by convenience, promotion f was replaced by communication.
3. The 4As are: acceptability, affordability, accessibility, and awareness.

The term acceptability encompasses how acceptable the product is, how people
approve of the product, whether it is socially and legallyacceptable, and if it is
fashionable and attractive.

The term affordability means for the customer to have enough money to buy the
product, that is if he / she can afford the product.

The term accessibility encompasses the product to be easy to access in general and
for people with disabilities in particular.

The term awareness means how many people know about, or are aware of, the
product.

4. The 40s are: objects, objectives, organization and operation.

The term objects encompasses what the producer sells, how it is manufactured, or
made if it is a high quality (or excellent) product, or it is bottom end.

The term objectives can be subdivided into two issues: revenue objectives which
concern the income the producer wants to generate and price objectives which
concern the price he / she wants to sell at.

The term organization encompasses how the producer should organize the sale and
distribution of his / herproduct and which distribution methods will work best.

The term operations encompasses which kind of promotional operations, such as
direct mail, will work best for the product.

5. AIDA 1is an acronym which represents the steps a marketer takes in order to
persuade customers to buy a product or service. They are attention , interest, desire
and action.

6. This new version model is called customer-oriented because it describes how
to deliver to the customer the best possible product in the best possible way

3. Put the terms from the box into the correct columns.
1 Product: acceptability, customer needs, objects
2 Price: affordability, cost to user, objectives
3 Place: accessibility, convenience, organization
4 Promotion: awareness, communication, operations
4. Use the following words to complete | 4. Replace the underlined words.
the article. 1)  socially acceptable
1) customers 2)  high quality
2) identified 3)  price
3) meet 4) afford
4) promotional 5)  convenient
5) awareness 6) Revenue objectives
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Put the words in the correct order to make a sentence.
We must attract attention to the product.

People will become aware of the brand.

We need to create an interest in the product.

We want customers to develop an interest in the product.
We must develop a desire to own our product.

People will take steps to try it.

We must prompt action to buy it.

NOU R W

6. Translate the following sentences.

1) The marketer has to be creative to make advertising interactive.

2) Usually intangible products are service based. For example, web hosting is
sold with 24/7/365 phone help desk for a case of emergency.

3) Our new product is very convenient to find and we think our price to be very
attractive for the customers.

4) We are more expensive than our competitors but we often run special deals
and promotional operations.

5) The marketers have to study consumer needs and wants and then attract
consumers with something each one wants.

6) All our shops are accessible for people with disabilities.

7) We have launched the whole range of our new model so that different subsets
of consumers can afford it.

8) Marketers have to make sure that different subsets of consumers are aware of
the product.

9) We have placed our brand both in supermarkets and in local shops, and

sometimes we launch outdoor events.
10) We believe that our customers perceive the cost of our product as a fair one.
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UNIT 17

BRANDING
The active vocabulary of the Unit.
. . to meet the
to identif jOenmuikysamu .. oocsieHymu yineul
y ! ity objectives Hymu YL
. 3abesneyumu
. . DN . to ensure consistent
to differentiate from |gidpiznumu 6io . V32000iCeHy
brand behaviour .
Nn06edIiHKY OpeHOy
.. KOHKYPEHMOCHPOMOICHULL .. BNI3HABAHICMb
competitive set wpen P brand recognition B !
HaoIp Openoy
no3umueHe

brand values

yinHocmi OpeHoy

positive sentiment

8DADICEHHSL, BIO2YK

fixed assets

OCHOGBHI aKmueu

to be explicitly
exposed to

mym Oymu (s6H0)
BUOUMUM

to originate

nOX00UmMU, 3aP00IHCYBAMUCD,
BUHUKATNU

visual signifiers

813V AIbHI CUMBOAU

to be knowledgeable

advent npuxio about Oymu 00i3HaAHUM 3
shipping nepege3enns heritage CnAaooxK
insignia embnema trustworthy AUl sactyeosye
008ipu
to be engaged in Oymu 3anyyeHum 00 dependable 3anexcHull
to align expectations |niompumyeamu ouiKy8iHHS. integrit YLIbHICTID,
gh exp UMy Y gty NnopsiOHiCMb
to maintain a brand | niompumyeamu o6pero vibrant ACRpasuLt,
CHepcIURUU
responsiveness YUYMAUBICMb accessible docmynuuii
market intelligence  |3nanusa punxy diverse PDIZHOMAHIMHULL
to result in npusooumu 00 inclusive mauil, Oe 6ce
6KJIFOYEHO
1. Read the text and answer the questions.
1. Companies brand their products or services by using a name, a symbol or a
design to identify it and differentiate it from the competitive set — that is, rival brands.
2. A brand name is the word or words used to identify a company, product,
service or concept.
3. The trademark is the legal protection for the brand, its logo and its brand
name.
4, The main brand elements are: name, logo, tagline or catchphrase, graphics,
shapes, colours, sounds, scents, tastes, movements.
3. The oldest generic Brand or no brand, is known as ‘Chyawanprash. It

produces a herbal paste consumed for its purported health benefits and some other
related products.
6. Mass-marketing originated in the 19th century with the advent of packaged
goods with the development of industrialization.

61


http://en.wikipedia.org/wiki/Chyawanprash
http://en.wikipedia.org/wiki/Good_%28accounting%29
http://en.wikipedia.org/wiki/Industrialization

7. Brand management is the application of marketing techniques to a brand.

8. Proper branding can result in higher sales of not only one product, but of
other products associated with that brand.
9. The brand strategy covers meeting the brand’s objectives, meaning what the

brand does and how it acts in all advertising media, and consistent brand experience —
the exposure and interaction a consumer has with the brand.

10. “Total Branding’ is aimed at maximally aligning all four of the key building
blocks of a brand — mission, culture, internal and external communication — in such a
way as to achieve maximum impact. For a brand to work, mission, culture, internal
and external communication must be fully aligned.

11. Brands usually represent the sum of all qualities of a product valuable to the
consumer.

12. A brand which is widely known in the marketplace acquires brand recognition.
When brand recognition builds up to a point where a brand enjoys a critical mass of
positive sentiment in the marketplace, it is said to have achieved brand franchise.

13. Brand awareness is, in general, customers’ ability to recall and recognize the
brand under different conditions and link the brand name, logo, jingles and so on to
certain associations in memory.

3. Match the following word combinations with “brand” to their definitions.
1-¢);2-d);3-g)4-1;5-¢e);6-b);7—a).

S. Label the purchase stages.

Consumers know about the product 1) brand awareness

Consumers think about buying the product 2) brand consideration

Consumers like the product more than other 3) brand preference

products

Consumers always buy the product 4) brand loyalty/ brand
retention

6. Complete the crossword.

Across: Down:

2) differentiate 6) flagship 1) branding
3) own 8) range 4) premium
5) generic 9) conomy 7) leader

7. Read what the brand manager says about the brand identify.
1 - brand essence; 2 - brand promise; 3 - brand image; 4 - brand vision.

8. A marketing manager writes an e-mail about... . Complete the
e-mail.
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1) launched the brand 5) brand extension
2) establish the brand 6) market the brand
3) rebrand 7) brand positioning
4) stretch the brand 8) enhance the brand

9. Match the examples to the summaries.
l-c; 2-b; 3-d; 4-a.

10. Decide if the statements are true or false.

1. False. An advertising campaign is an example of brand behaviour.
2. False. The brand personality is a statement of the human characteristics of a
brand.
3. True.
4, False. You stretch a brand when you increase the range of products in the
brand.
5. True.
6. False. Brand tone of voice, brand values and brand mission are all part of the
brand platform.

Heksk

1. Answer the questions.

1. Consumers are now bombarded with choices. They are also harder to reach.
They are busier, more distracted and have more media to choose from.

2. Brand values are the code by which the brand lives and operates. They
express how the brand wants to be seen by its consumers.

3. Many brands have a strong heritage — they have built strong, lasting values
over many years. Some brands speak about their trustworthiness — their integrity,
honesty and responsibility — and act in ways that are fair for the consumer and the
environment. For example, the Linux operating system allows consumers to
contribute to their brand values: being accessible, diverse, inclusive and independent.
4. Customer satisfaction, flexibility, simplicity and practicality, being easy to
use make customers feel good. Some brands focus on a healthy lifestyle and are
nutritional, fresh and natural. Some brands show they are caring and want to look
after their consumers. A good example is the toy retailer Toys "R" Us, which
includes educational as one of its values.

5. To make customers feel that they are their contemporaries brands often
mirror their consumers’ values with their own. Young and modern brands will list in
their brand values qualities like modern, innovative, creative and technological. More
traditional brands will give their values as classic, heritage, authentic and original.
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3. Find nouns corresponding to the adjectives.

caring — care vibrant — vibration, vibrancy
dependable — dependence, dependability pleasurable — pleasure
honest — honesty modern — modernity
fair — fairness innovative — innovation
diverse — diversity technological — technology
inclusive — inclosure, inclusivity inspirational — inspiration
independent — independence passionate — passion
luxurious — luxury authentic — authenticity
active — activity original — originality
dynamic — dynamics, dynamism appealing — appeal
4. Choose the correct 5. Choose the correct 6. Use the following
1) Freshness 1) flexibility 1) innovative
2)  Modernity 2) simplicity 2) respected
3) Naturalness 3) easy to use 3) inspirational
4) Pleasure 4) knowledgeable 4) luxury
5) money
Before doing the next exercises (8, 9) it may be necessary to revise the following
grammar item. You may give your students the following task:

Look at the following sentences. Consider the comparatives and superlatives of
the adjectives and adverbs.

1. They are also harder to reach. They are busier, more distracted and have
more media to choose from.

2. In the new global economy, brands represent a huge portion of the value of a
company and, increasingly, its biggest source of profits.

3. Jonathan Bond and Richard Kirshenbaum, authors of Under The Radar —
Talking To Today’s Cynical Consumers, say ‘some of the most cynical consumers
are the young.’

4. The argument has been most forcefully stated in Naomi Klein’s book No
Logo: Taking Aim at the Brand Bullies.

Revise how the comparatives and superlatives of the following are formed.
- adjectives of one syllable

- adjectives ending in -y

- adjectives of more than one syllable

- adverbs

Comparatives are formed as follows.
add -er for one-syllable adjectives.

64



Consumers are harder to reach nowadays. Many products are cheaper than ten
years ago.
add -ier for adjectives ending with -y .

People are busier than ever before. I prefer the other design. It looks trendier.
use more/less for multi-syllable adjectives.

Brands are more powerful in today’s economy. Our last product was more
expensive.

irregular comparative forms (good, bad, far).

We’re better at identifying our customer now. The figures are far worse than
expected.

Call me if you need any further information. The new office is farther from the city
centre.

Superlatives are formed as follows.

add the -est for one-syllable adjectives.

A brand was the simplest stamp of quality. The deadline was the shortest we’ve
worked to.

add the -iest for adjectives ending with —y.

Building a brand is not the easiest thing to do. It’s the funniest campaign I’ve ever
seen.

use the most/least for multi-syllable adjectives

Many of the most expensive brands are copied. It’s the least successful campaign
we’ve ever had.

Adverbs have the following forms.

add more /less for comparative adverbs.

TV advertising reaches people more efficiently. They can do the same ut far less
expensively.

add the most/least for superlative adverbs.

Ms Klein’s book made the point most forcefully. It’s our most successfully marketed
product.

(not) as ... as.

All comparisons can be made in two ways. Image is more important than quality.
Quality isn’t as important as image.
You may give the task to complete the following table.

adjective comparative | superlative | adverb | comparative | superlative

1 powerful

2 exciting

3 fast

4 cynical
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5 easy

6 hard
7 responsive
8 good
Keys
adjective | comparative | superlative adverb comparative | superlative
| powerful more the most powerfully more most
powerful powerful powerfully | powerfully
2 exciting more the m ost excitingly more mos.t'
exciting exciting excitingly excitingly
3 fast faster the fastest | fast faster fastest
4 cynical more cynical the most cynically more mogt
cynical cynically cynically
5 easy easier the easiest | easily more easily | most easily
6 hard harder the hardest | hard harder hardest
. more the most . more most
‘Tresponsive . . responsively . .
responsive | responsive responsively | responsive
8 good better the best well better best
8. Complete the article with the... 9. Complete the sentences with...
1) newest 1) more
2) most innovative 2) than
3) clearer 3) least
4) greater 4) best
5) the funniest 5) most
6)  most amusing 6)  happiest
7)  more skeptical 7)  generous
8) more intrusive 8) equal
9) the best
10. Translate the following sentences.
1. What is the legal protection for the brand, its logo and its brand name?
2. Packaged goods originated brands in the field of mass marketing.
3. Who is responsible for creating, maintaining and building a brand?
4, A brand often serves to denote a certain attractive quality or characteristic
important for consumers.
5. Customers’ ability to recall and recognize the brand under different

conditions and link certain associations to the brand name, logo, jingles is known as
brand awareness.

6. Consumers nowadays are harder to reach, they are busier, more distracted
and have more sources to choose from.
7. Many quality world-known brands have a strong heritage - they have built

strong, lasting values over many years. They are trustworthy and dependable brands.
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8. Being easy to use, that is flexibility, simplicity and practicality is a positive
value for any brand.

9. Some brands show that they are caring and enviromentally friendly. A good
example is the Kindle e-books. No computer, no cable, no paper, this way the Kindle
add to environmental protection.

10. Some brands speak about their trustworthiness - their integrity, honesty and
responsibility; and act in ways that are fair for the consumer and the environment.

67



UNIT 18

MASLOW’S HIERARCHY OF NEEDS

The active vocabulary of the Unit.

CHpUYUHAMU NOCMIUHY

data warehouse

belongingness CRiGnpuYemuicmo to be a going concern
mypboomy
o L . 0OIPYHMYBAHHSA
self-actualization camopeanizayis rationale for PYHIY
4020Cb
self-transcendence camonepesepulenHs in spite of He OUBIAYUCL HA
. . nepcoHanbHull
acceptance NPUUHAMMS one-to-one marketing
Mapkemume
customer relationship | ynpaesninus 36 ’sskamu
self-esteem camonosaza .
management 3 KJIlEHmMamu
e KOMNJIEKC . .
inferiority complex . . to be faced with 3IUMOBXHYMUCS 3
HEeNno8HOYIHHOCI
.. . .. 3anenaoamu,
to take precedence mamu npiopimem to decline, declining .
3anenadarquil
to shrink-shrunk-
regardless He38axcardu Ha 3MEHULYBAMUCH
shrunk
. L . . npubymox,
yield 3a2a1bHa KIbKICMb profit margin Uy .
peHmabenvHicmo
. gionogioamu . N
to meet requirements mutually beneficial 83AEMOBULIOHUL
BUMO2AM
. KIHYe8oM . .
ultimately YRy Y to interact 83aemooiamu
DAXYHKY
. mpumamu to customize = Hanawmyeamu
hinder sbd from Ymp . . Y
K020Cb 810 to tailor (Ha cnooicusava)
. OHM-0QICcHI
to refer to NOCUNIAMUCSL HA front office system op ¢
cucmemu
. odocseamu . .
to accomplish back office system bex-oghicui cucmemu
36eputysamu
. . database =
to perceive cnputimamu basa oanux

consumer protection

epynu 3axucmy

to focus on 30cepeoumucs Ha
groups = watchdogs cnooicusada
valid OIUCHUU, YUHHUL privacy KOHGhiOeHYitiHicmb
Oymu HanaumosaHum
to be attuned to HZ . to encrypt po3uugpposyeamu
to ascertain 3’acysamu disclosure PO3KpUMms
viability AHCUMMEIOAMHICMb to attest to 3aceiouumu
2. Answer the following questions.
1. To describe the stages of growth in humans Maslow used the terms

Physiological, Safety, Belongingness and Love, Esteem, Self-Actualization and Self-
Transcendence.
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2. Maslow studied what he called exemplary people such as Albert Einstein,
Jane Addams, Eleanor Roosevelt, and Frederick Douglass rather than mentally ill or
neurotic people.Thus he studied the healthiest 1% of the college student population.

3. Maslow’s theory is often portrayed in the shape of a pyramid with the largest,
most fundamental levels of needs at the bottom and the need for self-actualization at
the top. Maslow himself never used a pyramid to describe these levels in any of his
writings on the subject.

4. Basic physiological needs are: air, water, food, clothing and shelter, and, in
the end, sexual competition to maintain birth rate.

5. Safety and Security needs include: personal security, financial security,
health and well-being and safety net against accidents, illness and their adverse
impacts.

6. After physiological and safety needs are fulfilled, the third level of human
needs is interpersonal and involves feelings of belongingness. They are: friendship,
intimacy and family. Humans need to love and be loved — both sexually and non-
sexually — by others.

7. Low self-esteem or an inferiority complex may result in different
psychological imbalances such as depression.

8. Yes, self-actualization and self-transcendence are necessary to every human-
being, because, having achieved these levels humans can further develop.

0. Maslow’s theory of needs remains valid today for understanding human
motivation, management training, and personal development. Maslow’s ideas
concerning the responsibility of employers to provide a workplace environment that
encourages and enables employees to fulfil their own unique potential (self-
actualization) are today more relevant than ever.

3. Match the needs from Maslow’s pyramid (1-5) with the reasons for
buying.

1-d;2-a;3-c¢;4-¢;,5-0D.

4. Put the words in the correct order.

1) Customers like to maintain a certain lifestyle.

2) A major customer concern is how to provide for the immediate family.

3) Buying food and drink is an example of satisfying a physiological need.

4) Some service sectors are highly attuned to customer needs.

5) The Consumer Life Cycle shows how consumer needs change over a period
of time.

1. Replace the underlined expressions.
l1-c;2-b;3-1;,4-g;5-a,d; 6-e.

6. Write out the person’s needs according to the pyramid.
1. Physiological needs, that is how he will pay for his food and housing.
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2. Safety needs, that is how he will protect himself and his familywhen he is
retired.

3. Social needs, that is if he will be able to afford membership of his golf club.
4. Esteem needs, that is to maintain hislifestyle and social status.
5. Self-fulfilment needs, that is if there is an opportunity of executing personal

projects fulfilling dreems.

7. Fill the blanks with the given words and word combination.

1 - attuned to; 2 - customer’s needs; 3 - service; 4 - current account;
5

- creating needs; 6 - satisfy; 7 - desires.

8. List the needs according to the levels of Maslow’s hierarchy (1-8).

1. Biological and Physiological needs — air, food, drink, shelter, warmth, sex,
sleep.
2. Safety needs — protection from elements, security, order, law, limits, stability.
3. Belongingness and Love needs — work group, family, affection, relationships.
4. Esteem needs — self-esteem, achievement, mastery, independence, status,
dominance, prestige, managerial responsibility.
5. Cognitive needs — knowledge, meaning.
6. Aesthetic needs — appreciation and search for beauty, balance, form.
7. Self-Actualization needs — realizing personal potential, self-fulfillment,
seeking personal growth and peak experiences.
8. Transcendence needs — helping others to achieve self actualization.

Heksk
1. Answer the questions.
1. A firm in the market economy can survive in the market economy by
producing goods that people are willing and able to buy.
2. Customer focus implies that the company focuses its activities and products
on consumer demands.
3. Constructive criticism helps marketers meet changing customer needs.
4. SIVA is a formal approach to customer-focused marketing known as

Solution, Information, Value, Access. This system is basically the four Ps renamed
and reworded to provide a customer focus. The SIVA Model provides a
demand/customer-centric alternative to the well-known 4Ps supply side model
(product, price, placement, promotion) of marketing management.

5. A firm’s marketing department gathers and processes information. The
information from an organization’s marketing department would be used to guide the
actions of other departments within the firm. while the marketing department would
focus on the promotion, distribution, pricing, etc. of the product.

6. For example, the R&D department having been informed by the marketing
department would create a prototype of a product/service based on consumers’ new
desires. The production department would then start to manufacture the product,
Additionally, a firm’s finance department would be consulted, with respect to
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securing appropriate funding for the development, production and promotion of the
product.

7. Customer Relationship Management or CRM is one-to-one marketing, and it
is based on the idea of treating different customers differently.
8. One-to-one organizations create a customer feedback loop in which they say,

‘I know you. You tell me what you want. I’ll make it - and I’ll remember next time.’
This process is called a learning relationship, and it has four basic implementation
steps (IDIC): identify your customers at all points of contact, differentiate between
your customers based on their individual needs and value to your organization,
interact with your customers in a two-way dialogue, customize or tailor some aspect
of your products or services based on what you learn from your customers.

0. Data mining reveals patterns in customer behaviour. For example, fathers
have a tendency to buy branded food products, whilst mothers prefer private labels.
10. It is important for firms to protect customer’s privacy for it not to be available
to people outside the company, and so prevent accidental disclosure of information.

2. Find verbs and 3. Complete the sentences. 4. Choose the...
prepositions 1) disclose (CRM marketer) 1) relationship
customers 2) stored (representative of a | 2) CRM
differentiate between consumer watchdog) 3) identify
customers 3) gathers (consumer) 4) store
identify 4) differentiate (CRM 5) database
customers marketer) 6) record
interact with customers 7) differentiate
data 8) interacting
analyse data 9) dialogue
disclose data 10) customisation
gather data 11) gathered
mine data 12) database
process data 13) data mining
store data

5. Fill the blanks with the given 6. Use the words from the box.
words. 1) card

1) behaviour 2) preferred

2) purchasing decision 3) points

3) awareness 4) special offers

4) purchase intention 5) build

5) personal involvement 6) programmes

6) impulse purchasing 7) earn

7) loyalty 8) retain
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7. Translate the following words.

1. The human body cannot function properly, if physiological requirements are
not met.

2. People need to feel a sense of belonging to their social groups, regardless if
these groups are large or small.

3. People often engage in a profession or have a hobby to gain recognition.

4, Self-actualization level of needs covers a person’s full potential and the
realization of that potential.

5. Maslow’s ideas concerning the responsibility of employers to provide a
workplace environment are today more relevant than ever.

6. This encourages and enables employees to fulfil their own unique potential.
7. Customer focus or market orientation implies that the company focuses its
activities and products on consumer demands.

8. Companies in all industries today face the problems of declining customer
loyalty and shrinking profit margins.

9. What kind of information does a data warehouse contain?

10. What has data mining revealed about patterns in customer behaviour? What
kind of goods do fathers have a tendency to buy? What about mothers?

11. Customers, as a rule, wish to keep their purchases confidential, so a company
should protect its customers’ privacy.
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UNIT 19

ADVERTISING

The active vocabulary of the Unit.

to drive consumer enauseamu Ha kiienma | to deteriorate ncysamucst
behaviour noeeoinKa obsolete 3acmapinuil
with respect to 3 02110y Ha to go far beyond BUX0OUMU 0AIeKO 3d
viable ACUMMEZOAMHULL to haunt nepecnioysamiu
. . . word-of-mouth NepCcoHAIbHA peKlama,
to associate with acoyiroeamu woch 3 . . .
advertising «capacghanme paoioy
public service 0eporcasHa cyicoa to rely on NOKIA0AmMuUcs Ha
BUKOPUCMAHHS
announcement 020J10UEeHHL product placement mosapig y Qinbmax
3 Memor pexiamu
wares mosapu digital advertisement | yugposa pexnama
. . meine- abo
in part 30Kpema commercial .
padiopexiama
npoCy6amHs

to be aimed at

6ymu CNpAMOBAHUM HA

online promotion

8 pedcuMi OHIAlH

to convey information

nepedamu (8uxiacmu)
iHhopmayiro

physical advert

Qizuuna pexnama

3a71y4eHHs 6I00MUX

to be misleading Oymu OMaHIUBUM endorsement y
Jr00ell 00 peKkiamu
. . . be3kouwmoeHa po3oaua
to a certain extent 00 nesHoi Mipu product giveaway
NPOOYKMYy
to pander to nomypamu loyalty programme npocpama 10sNbHOCMI
tubliminal NpUXoB8anUll to draw in 3anyyamu
coincidence 3012 ultimate goal KiHYyeea mema
‘niouucmumu’, . . periand, wo icrye
to soak up ambient media He3aeHCHO
no3oymucst . .
8I0 peKIamooasyis
to grab one’s npUsepHymu y6az
by-products noobiuHi npooyKmu attention = to get in puseprymu yeazy
, K020Cb
one’s face
. . subliminal
to be laid off Oymu 36i1bHeHUM .. NPUX0B8AHA PEKNAMA
advertizing
5. Answer the questions.
1. Advertizing 1s a form of communication for marketing. It is used to
encourage, persuade, or manipulate an audience to continue or take some new action.
2. It comes from Latin ad vertere which means "to turn the mind toward.
3. Informative advertising is conveying information to potential customers and

clients, it is also used to persuade the public to buy, but it mainly concerns nonprofit
organizations which rely on free modes of persuasion, such as a public service
announcement.
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4. Persuasive advertising is criticised because it is used to persuade the public to
buy. Another thing is that advertisements are sometimes misleading. Although it is
illegal for advertisers to make untrue statements about their goods, services or prices,
they still make their goods seem unduly attractive. They pander to our egos and our
vanities. They create a demand which would not otherwise exist.

5. Subliminal advertising is unnoticed advertising, that is when a word or a
picture is flashed on to the television screen. It happens so quickly that no-one is
aware that it has happened. It influences human subconsciousness.

6. To counter a fall in sales the demand for goods should be stimulated by
advertising, and, as an alternative, producers sometimes should lower prices for their
wares.

7. National newspapers derive much of their revenue from advertising. Look at
a typical newspaper and you will discover the proportion of the pages devoted to
advertisements.

8. Window-dressing is a very effective form of advertising, because when a
person sees clothes on models in shop windows there are more chances for them to at
least enter the shop and, in many cases, to buy an item.

9. Without the possibility of advertising, workforces would have to be laid off
when sales fell, that’s why we can say that advertising helps to save workplaces.

10. It is expensive to hold stocks unnecessarily, because the warehouses would
become overfilled and the stocks would deteriorate, perhaps even become obsolete.

6. Find in the text the sentences with the following phrases.

1. If the needs are overestimated it is possible, through advertising, to soak up
the surplus goods which have been produced. — fHxwo nompeou 3asuweni, mo 3a
O00ONOMO2010 pPeKIaMu MONCHA  NIOYUCMUMU HAOIUWOK moeapie (no3dymucs
HAOUWKY MOBAPI8), Wo OVIU 8U2OMOBIEHL.

2. As a demand for a product sags, it can be stimulated. — Koau nonum na
NPOOYKM NAOAE, U020 MONCHA CIMUMYTIOBAMU.

3. Without the possibility of advertising, workforces would have to be laid off
when sales fell. — be3 moowcnueocmi pexiamyeamts, pooowy cuiy 008enocs 6
38IIbHUMU, KOJIU NAOAIOMb NPOOAXCI.

4. National newspapers derive much of their revenue from advertising. —

Hayionanvhi cazemu ompumyroms OiibuLy YacCmuHy c80ix 00x00i8 8i0 peKiamu.

7. Find the sentences with by + gerund.

The manager of a clothes store is advertising by putting models wearing the store’s
clothes in the window. — The manager of a clothes store is advertising by means of
putting models wearing the store’s clothes in the window. — Menedowcep maeazuny
0052y pooums pekiamy, NOCMagUBULU MOOel, 00SI2HEHI 8 00512 3 MA2A3UHY, Y GIKHI.

8. Complete the following sentences.
1) promoting its product or service on the market in every possible way.
2) using all means of advertising.
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3) using the Inertnet?
4) combining different means of advertising.
5) hiring professional admen.

9. Match the two halves of the sentences.
1-b; 2-c¢;3-a;4-d;5-¢c; 6-e¢.

Heokk

1. Answer the following questions.

1. Above-the-Line (ATL) is a form of media advertising where a commission or
fee is paid to an agency working for its clients. The commission represents a
percentage of the media investment - that is, how much is spent on media during the
advertising campaign.

2. It is run in the commercials between programmes, before the programme
inidents (short films with the brand name and logo ) and interactive ads on digital
television.

3. Below-the-line (BTL) refers to any non-media advertising or promotion.

4. It i1s subdivided into direct mail, exhibitions, point-of-sale and street
marketing.

5. There are following advertising techniques: pester power, beauty or sex

appeal, peer approval, lifestyle advertising, rebel advertising, escape advertising and
others.

6. There exist different TV and radio advertising formats:

e an advertisement that is broadcast on TV or radio is called a commercial. This
traditional format is shown in the commercial break between programmes.

e anident is a short film with the brand name and logo shown before a programme.

e a sponsored programme or AFP (advertiser-funded programme) is financed by the
sponsor or brand.

e interactive ads are becoming more popular on digital television; in addition to using
the remote control to change channels, viewers can press a button and respond to an ad.
7. In most countries there exist TV, radio and the Internet channels.

8. Dayparts are sections of the day during which programmes are broadcast or
aired to appeal to the particular demographic group that will be watching or listening.
Most people have regular listening or viewing habits and will usually watch, or tune

in to, the same programmes every day or week.

0. There exist such formats of outdoor advertising as roadside panels,

wallscapes, lightboxes, tri-face billboards, street furniture, transit advertising, LED
screens and others.

Use one part (a or b) from each column to make sentencves.
b) Media planners work in media agencies.
a) Ad avoiders zap during advertising breaks.

) Blended marketing uses TTL techniques.

a) Normally advertisers brief advertising agencies.
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b) Interactive TV is an emerging media.
4 a) Advertising agencies develop advertising strategies.
b) BTL campaigns don’t run in mainstream media.

3. In the description ... the underlined phrases are in the wrong place.

1) strategy; 7) avoid;

2) attention; 8) blended;

3) below-the-line; 9) ATL;

4) media; 10) BTL;

5) above-the-line; 11) adverts;

6) fragmented; 12) tactics.

4. Match the two parts of the sentences.

Ford is using the Internet to tap (e) into the Long Tail. — false

Ford is only using interruptive (c) advertising on the TV. — false

Ford is using pester (d) power, by appealing to children. — false
Ford is using multi-channel (a) marketing. — true

Ford has display (b) adverts at football stadiums. — false

5. Match the words and phrases (1-5) to the definitions (a — e).
1-¢, 2-b; 3-¢e;4-d; 5-b.

6. Use the words from the box to complete the text.
1 - channels; 2 - programmes; 3 - station; 4 - reaching; 5 - listener.

7. Use a word from each box to make..
commercial break
commercial channel
commercial station
game show
listening habits
prime time

radio show

radio station

reality show

reality TV

remote control

soap opera

TV channel

TV show

weather forecast

8. Complete the sentences with the words from the box.
1) face; 8) banner;
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2) billboard; 9) vinyl;

3) paste; 10) transit;

4) lightbox; 11) outdoor;
5) street; 12) floor;

6) roadside; 13) digital,

7) sonic; 14) lenticular.

9. Complete the news report using the words from the box.
1 - hung; 2 - wrapped; 3 - shelters; 4 - catching; 5 - covering; 6 -graphics.

12. Translate the following sentences.

1. As the demand for this product is falling, it should be stimulated.

2. Advertising agencies may harm consumers creating misleading
advertisements.

3. The effects of advertising on the purchaser’s choice of a product cannot be
overestimated.

4, Recently a study (research) of subliminal advertising has been conducted in
order to assess its impact on customers.

5. Warehouses are overcrowded, products deteriorate and become obsolete.

6. An ATL campaign is aimed at making the customer aware of a product or
service, or at building the image of a brand.

7. Is it in the competence of the ad agency to develop an advertising strategy?
What is the strategy based on?

8. Zapping or ad avoidance is changing channels during advertising breaks.

9. Which traditional format of advertising is shown in the commercial break

between programmes?

10. Interactive ads are becoming more popular on digital television; in addition to
using the remote control to change channels, viewers can press a button and respond
to an ad.
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UNIT 20

HOW MARKETING FUNCTIONS

IN A SOCIETY
The active vocabulary of the Unit.
to anticipate nepedbauamu religious revelation penicitine 00KPOBEHH s
coincidence 30ie outrageous advertising |00ypausa pexnama
. . . ompumamu
to determine suzHavamu to obtain reparations P .
KOMHNeHCayiro
commodity mosap penance NOKASHHS
to cease NPUNUHAMU substantial icmomuutl
niooasamucsl,
to become fused 3AUMUCS to be exposed to
Hampanasamu
: . «eenepamop ioeiiy
scourge bamie, buy an adland thinker panop
y cghepi pexnamu
. . niompumyeamu,
to begrudge wroodysamu (epouteti) |to pitch for UMY
pexaamyeamu
to be put at risk nioodamu pusuKy to garner 3anacamu
. . Oymu CNPUtIHAMAUBUM
stance no3uyis to be receptive to Y P .

00

to turn a blind eye to |3akpusamu oui na counterpart napmuep, Koie2a
to hanker for NpazHymu 4020Cb to shatter pyuHysamu
bizarre OueHUl acumen NPOHUKIUBICIND
regardless of He38axcaryu Ha to benefit from Mamu KoOpucmas 610
.. . . . 800CKOHANI0BAMU
underprivileged HEe3aMONCHUUL to enlighten a policy .
NOLIMUKY

1. Arrange the following words ... .

1) begrudge;
2) coincidence;
3) encourage;

4) pollution; 10) underprivileged;
5) questionable; 11) unemployment;
6) regardless; 12) unstable.

2. Translate the following words.

1) society; 5) quality;

2) sovereignty;  6) prosperity;

3) possibility; 7) productivity;

4) activity; 8) quantity.

7) restriction;
8) safeguard;
9) selfishness;

3. Scan the text. What limitations of the free market economy are mentioned.
The main limitation (or problem) of the free market economy is unemployment.
There is also a problem of the sick and underprivileged as the society isn’t always

willing to give them aid. Another major criticism can be leveled at what is produced
(if products which are dangerous to health face restrictions in the country-producer,
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they may be exported to countries with less protected population). The problem of
nuclear waste is not less dangerous. The ozone layer is is sacrificed at the altar of
short-term business projects. Many companies fail to implement environmentally
friendly policies because it is too costly.

4. Find in the text the sentences beginning with “It seems ...”

It seems a fact that the people in capitalist societies are generally better dressed, less
hungry and live longer. — 30aemuvcs oueeuonum, wo 00U 6 KANiMAaniCMu4HUx
CYCNibCMBax, sIK npasuio, Kpawe 00sI2HeHI, MeHUlL 20JI00HI [ HCUBYMb 008ULE.

It seems natural that the notion of a political democracy becomes fused with the
concept of consumer sovereignty. — 30aemuvcsi npUpOOHUM, WO NOHAMMS NOJIMUYHOL
0eMoKpamii 31U8AEMbCsl 3 NOHAMMAM CY8EPEeHImemy CnONCUBAUd.

S. Find in the text the sentences containing the following word-combinations.
1) miHOBUI MeXaHi3M;

2) pyHKIIIS MAPKETUHTY;

3) noTpedu crokuBaya;

4) cyBepeHITEeT CIIOKUBAYa;

5) dbimocodist BUTBHOTO PUHKY;

6) BUpOOHUKU CUTAPET;

7) KOPOTKOTEPMIHOBHI O13HEC;

8) KOPOTKOTEPMIHOBUI TPUOYTOK;

9) 3agoBoJieHHS TOTPEO CrOKKUBaya.

6. Tick the phrase which most accurately completes each of the statements.
1-a); 2-b); 3-Db).

7. Find in the 1*' and 2" paragraphs the sentences with passive forms.

The marketing function is usually seen as anticipating consumer wants and then
proceeding to satisfy them. — @yuxyio mapkemuney, ax npasuno, po3ensioarms K
nepedbauens nomped cnodxcusaid, a NOMIm ix 3a00801eHHS.

It seems a fact that the people in capitalist societies are generally better dressed, less
hungry and live longer. — 30aemwbcs ouesuonum, wo n00u 6 KanimanicmuyHux
CYCNibCcmeax, sk npasuilo, Kpawje 00s12HeHl, MeHUL 20J100HI I HCUBYMb 008ule.

Prices are determined by the forces of demand and supply. — Cuiu nonumy i
NPONO3UYIi BUIHAUAIOMb/ 6CINAHOBIOIONMb YIHU.

Hookk

2. Read the text in more detail and choose the best answer.
1-(c; 2-(; 3-(; 4—(c;5- (b.

3.  Match the words or expressions from the text to the following definitions.
1 - billboard; 2 - poster; 3 - social issue; - client; 5 - to pitch for business; 6 -
coverage; 7 - creative director; 8 - taboo.
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4. Use the words from the box to complete the list.
1 - client; 2 - target; 3 - billboards; 4 - Creative Director; 5 - corporate image; 6 -
publicity.

5. Complete the following passage.
1 — putting;

2 — to make;

3 —to build / building;

4 — transforming;

5 — setting up;

6 — to bring;
7 — to reflect;
8 — creating;
9 — deciding;

10 — to appear;
11 — launching;
12 — changing;
13 — returning;
14 — drinking;

15 — to expand.

6. Translate the following sentences.

1. A society must care for the sick and underprivileged.

2. It seems undeniable that we should apply precautionary (preventive)
measures against pollution.

3. Cigarette manufacturers conduct market research to study the needs of
consumers.

4. Should we allow entrepreneurs to obtain maximum profits, regardless of the
consequences?

5. Is it a coincidence that the production of this commodity is stopped?

\ You may also give your students the following task

Look at the following examples from the text. Consider the uses of like.

A.  The German carmaker’s model was likened to a religious revelation.

B. ... if outrageous advertising worked for the likes of Benetton, it could work to
revive the image of the Golf.

C.  The VW campaign might look like a marketing disaster...

D. ... it can still help to sell a product as advertisers like Benetton have already
proved.
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1. In which of the examples above are the words in italics used:

a) as a synonym for to appear’?
b) to give an example?
C) to refer to a type of person or group of people?
d) as a verb to compare one thing to another?
2. Complete the sentences using the correct form of the expressions with like.
1. TV advertising is too expensive for small computer software companies, only
... IBM can afford it.
2. Aggressive bosses are sometimes ... great apes by the media.
3. Advertising for products ... alcohol is banned in some countries.
4. The new perfume bottle is designed to ... a sculpture.
Keys
1. aC bD cB dA

2. 1) the likes 2) likened to3) like 4) look like
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